— ﬁ -
SEEENELEERO—FTy T -
|),\ o 7\ s
v 7 (ER228F9AR) [51#2)
e ey | BRE |gs | TIRL - _
= =& £ o ) =
H23.3 = 1LF k= FEHY (BlE 205 |23FE |HEAL |2E T./flz. nﬂEEU
1EE 6,829] 6429 94.1% 4654 =18 1('1355!1 &l #@s
- 2 A7 0 s
ﬁﬁz 829, o4z3, S4lh 4894, C87L 1803, Zoh  SbT 1490 917, Ao BE | HBED
EFE 553 500]  90.4% 442 o 8% 55 60 ol 0.4° : 1)
B : 79.9% 9 4% 86.9%  13.1%
EWB | 12| To00 a3\ soal Gan ol el sl sl 15l 27l 90 0N o5k
MHE 415 380 n : 35.4% 92 358 0 : 0%
LIz E 56 91.6% 355 85.5% 51 12.3% 32 18 1.4% 66.5% 32.5%
BEE o0 ol 5161 91.8% 43 1.7% 24 o I Zzoa B9 9.4%
1850 : 96.5% 688]  68.5% : 3] 0.5% 93.8% 5
KB . 231 D . 6.1%
*z’%%g: o T T N N 3 109 86| 864 6304 307
Tis 387 356] 92.0% 232]  59.9% 124] 32.0% ?2 22 29| 6.0% 66.1%  31.7%
s > gg; , Sgg 37,1% 5280 816% 244 9L 1 1;; 31]__8.0% 654%  32.7%
2 , : 6.3%]  1929] 66.6% ' 19] 2.9% 69.7% 9
FER 2,188 1,970 ’ Oh 861 29.7% 275 T 25.1%
£ , , 90.0% 1,109]  50.7¢ 586 106  3.7% 81.1% 0
EBR0 10975] 10,712 ' 1% 806]  36.8% 335 %] 17.9%
= : . 97.6Y 471 27 B
WENE| 4234 3811 64 77111 703% 30011 27.3% 996] 2,005 s
Y : 90.0%] 2805 66.2% 993 23.5% 10 : 63| 2.4% 73.5% 25 1%
gl 15 15]_100.0% 13]__86.7% ST 13.3% 0 893 436] 103%  740% 18.9%
EBE 844 0S| o544  785] 930% 5 a1 y ! o _oou[  sisu 785%
E [le.?_ 207 190] _ 91.8% 173]_83.6% TRET YT 10 15 24| 2.8% 95.7% 2.3%
EIR 435]  405] 93.1%|  368] 84.6% 03] T45% 20 24 o oo%|  822% 17.8%
alix 782 766 98.0% 721 92.2% 38— 4% 2 12 A 09 78.0%  207%
iR 300 273 91.0% 231 77.0% 612034 . 10 23] 2.9% 93.3% 5 4%
TR o7l __so7] 1000% 428 71.7% 720l 20.1% 3 2 8| _2.7% _ 81.9% _ 16.0%
i , : 100.0% 795 74.0° : 49|  8.2% 75.6% 50
BHIE 4.668 466 0% 226]  21.0% 37 6% 19.5%
=t : ,668| 100.09 139 54 0
SEE 205 - ] I 1 829]  17.8% 525 304 5 5.0% T56% 22.1%
T 4 00.0% 346 85.4% 50] 12.3% 31 305]  65% 7934  16.0%
025 941] _ 91.8% 818 79.8% 95 o 19 9] 2.2% 96.8% 2. 8%
S 2,661 2395] 90.0° ' 9.3% 43 52 i ; ' 38
sy | ool paosl soon Tassl soss| sl Tl el 3w S AT A AL
EEE : . O% 4,723|  59.9% 15 ) 5% 52.1% 27.1%
tfﬁg 3,190 2,872]  90.0% 2,034 63.8%: 62% lgﬁﬂj 1] 1315 1,597 20.3% 71_10/: 18_8;;
AN oy 28z S00m 2834, 038k Dooi 200k 240, 419 S0 o7h Tooh Ao
L 289 261 90.3% 219 758% 5o] 2044 2 79 110] 13.3% 68 2nl 22.4%
P 54 54]_100.0% 53] 98.1% T 10% 4? 19 1] 38% 63.3%  35.3%
SiEs 84 84]_100.0% 81| 96.4% 3 36 0 0] 0.0% 98.3% 7%
Fan 682 682] 100.0% 591  86.7% sol 014 3 0 o[ 00% 97.0% 3.0%
Tis].! 1119]  1.119] 100.0% 966] _86.3% a2l 1274 > o 22 32%]  86.5% 7.1%
LS 319 319] 100.0% 275]  86.2% 350 11 0% ?4 /8 1] 1.0% 88.4% _ 11.2%
SR 33573 glg 90.2% 216] __62.1% o2l 264% 325 gg 9  2.8% 92.2% 1%
=L 95.0% 717 91.1% - 40| 11.5% 83.4% v
ZigE 2032 1829 L0 50 6.4% 18 4h 12.7%
£ , , 90.0%| 1,597 78.6% 32 20[  2.5% 91.9% ;
=g 404 396] 9 ; Ll 296  14.6% 31 26 -9% 5.6%
= 5 8.0% 381195 0% 5 139]  6.8% 80.1% .
= . 1 . 14.8%
%‘;,ELLE: 7302] Z.118] 9204 1.850] 8084 322 12'53 2 7 3] 0.7% 96 74 T
_EllﬁL?— T 181 95.3% 169] 88.9% 170 8ot ?2 260 1211 5.3% 78.8%  17.9%
o1} 213 207] _ 97.2% 187] _ 87.8% o 3 1 4l 2.1% 89.0% 8.8%
EAR 370 344 n Sh 19] 89% 3 16 . 8%
jc’\ 2 I 93.0% 338l o7 2w o 2 7]__3.3% 82.7% _ 16.5%
ST ] 881 90.7% 77| 79.4% 20]_20.6% 1 = 2| 05  90.3% 8.8%
FIE%E 378 374 98.9% 371 98.1% 7 1-9; 2 1 0 0.0% 87.9% 12.1%
Ll g?g 421: 8] 92.1% 358] _ 78.9% 55143 12 52 0| 0.0% 94.2% 5 3%
i b 7] 99.5% 121]  55.5% ' 31| 6.8% 80.9% oo
P 9% 86 ) ReM) 13.9%
B& Tow] Tisn] sin] Tl sos 1w i i i ] Y T
: , 10097] _ 5693] 8.3% 74.4%] __ 20.7%
ik i B 718 P TOAIL — —
] =|| & = = 3 =
;'txﬁ‘g H23.3 = ﬂ:iﬁ;& el n‘l’@&u %IJ‘;%' 22ﬂ5]§ 23ﬂ5,‘# E_I_E?;:L’ %'Jé’ 17[:_%;]}2 n+§§ Y
g 6,829 6429 94.1% e
ﬁgg 4350 4130 9 4.70/: g’gig 3%3 1322 g;g:f 367 1,496 312]  46% (ﬁﬁfiz)% (ﬂi%éfs%
21820 20.740] __95.0% 14,6 o 6% 371 615 133 3.1% Yo —
=i 1,051 L0 o60h 1aia B60 606l 21sAl 180l 4 A%l 744% 237
. 94.7° . 237 1,157 B
JEiE 1517 o 94 70/0 958]  91.2% 69 6.6% 79 25 5.30A= 74.0% 23.3%
= , 5.2% 1,320 87.0% 162 7 24|  2.3% 94.2% 1%
ﬁg 12,;42 6.745] 100.0% _ 5.103] _75.7% _ 1.225 :g;f 722 25 35|  2.3% 88 6% Son
87 14,317]  90.2% 9,646 30 ; L5 499 417 6.2% 60 :
P E 2258] 225 o ’ 60.8% 3,031 19.1% 765 2% 80.6% 15.5%
E ) 58] 7000|1966 8713 2266] 3195 20.1% 69.1% D
o =] 3571 3987 9 : 1% 250)  11.1% 84 1 b 19.4%
‘ , , 2.0% __ 2914] 81.6% a5 66 42]  1.9% 88.9% 8.7%
ﬁJ% 4,(2)?;1 3,;30 9324 3359 83.9% 488 : 2(7):2 i gg 22(7) S aga 1194
= 17] 99.5% 121 55.5% : 165  4.1% 31.3" '
- 86 9 1% 3% 15.7%
&5t 68.253] 64292 94.2% 47.894] 70.2% 14,666 g?g‘f 4 523 5 o0 s 400y
- . 0 .
, 10097] __ 5693] _8.3% 74.4%] __ 20.7%




ZEEENERERRO—FY YT (EH2249 8308 8%E)

EERFR |HXETH i L hﬁgb = HEHY |25 (225 [235E | |FEEZL |ZE
e | RE 1,078 603 55.9% 449  41.7% 49 400 26 2.4%
%l N A 443 323  72.9% 109  24.6% 5 104 11 2.5%
diEE  [FLIETEREK 441 332 75.3% 106  24.0% 5 101 3 0.7%
E& 3 N =L =T 530 323  60.9% 197]  37.2% 23 174 10 1.9%
dbiEE  |ALIEH S X 625 384 61.4% 229]  36.6% 19 210 12 1.9%
ElZ I E 112 80  71.4% 29|  25.9% 4 25 3 2.7%
b 326 207] 63.5% 25 7.7% 13 12 94|  28.8%
El%:3E] 187 153]  81.8% 33 17.6% 4 29 1 0.5%
b 74 59  79.7% 15| 20.3% 0 15 0 0.0%
dtiEE 69 54|  78.3% 14]  20.3% 1 13 1 1.4%
b 327 264  80.7% 60[  18.3% 21 39 3 0.9%
dtiEE 211 166 78.7% 44 20.9% 8 36 1 0.5%
JLiEE 376 226  60.1% 110]  29.3% 22 88 40]  10.6%
dtiEE 89 45  50.6% 44|  49.4% 14 30 0 0.0%
dLiEE 314 225  71.7% 86 27.4% 32 54 3 1.0%
dtiEE 207 139  67.1% 60  29.0% 18 42 8 3.9%
b 159 112]  70.4% 26|  16.4% 0 26 21 13.2%
dtiEE 11 4] 36.4% 7] 63.6% 6 1 0 0.0%
dLiEE 91 75  82.4% 5 5.5% 1 4 11 12.1%
dtiEE 30 24|  80.0% 1 3.3% 1 0 5 16.7%
b 38 27| 71.1% 9]  23.7% 4 5 2 5.3%
dtiEE 185 147  79.5% 36 19.5% 6 30 2 1.1%
digE  |#ATH 30 16] 53.3% 8]  26.7% 3 5 6]  20.0%
3 :g% %;ﬁﬁ 22 16]  72.7% 5  22.7% 5 0 1 4.5%
it E Rl 10 9]  90.0% 1 10.0% 1 0 0 0.0%
E :325@ Th lF fitl 81 64]  79.0% 13[  16.0% 3 10 4 4.9%
iEE |FEH 9 1 11.1% 7] 77.8% 6 1 1 11.1Y
deisE  [#AlmH 7 5  71.4% 0 0.0% 0 0 2 233.(15;;
deigE |+ Rl 18 10|  55.6% 8|  44.4% 7 1 0 0.0%
E ,gﬁ £ E{Fi 12 8] 66.7% 4] 33.3% 1 3 0 0.0%
tiEE [=%m 3 2| 66.7% 1] 33.3% 0 1 0 0.0%
:,gé 3@_%?? 13 10|  76.9% 3] 23.1% 3 0 0 0.0%
deigE % 11 35 32|  91.4% 0 0.0% 0 0 3 8.6%
e |Eh 35 29]  82.9% 2 5.7% 1 1 4] 11.4%
E EJE E'L‘J:Ll F'TFH 9 9] 100.0% 0 0.0% 0 0 0 0.0%
AL 18 ] n:.\rj 0

deimE NI 10 9]  90.0% 1 10.0% 1 0 0 0.0%
ItiEE |SER%M 24 19]  79.2% 2 8.3% 2 0 3] 12.5%
gl | ERIH 29 10|  34.5% 15|  51.7% 13 2 4] 13.8%
IiEE |EET 75 65| 86.7% 9] 12.0% 2 7 1 1.3%
gl |[FEEm 16 15|  93.8% 1 6.3% 0 1 0 0.0%
:,gé :ll:;r.:iﬁi 49 36| 73.5% 4 8.2% 3 1 9] 18.4%
iEE |B¥kF 7 7] 100.0% 0 0.0% 0 0 0 0.0%
E# S CE B[ i 24 20] 83.3% 3] 125% 2 1 1 4.2%
dbiEE | R¥EER RIAT 9 2| 22.2% 6] 66.7% 2 4 1 11.1%
diEE | RFEIEEN 0

deiE | WA AT 4 1 25.0% 3[  75.0% 3 0 0 0.0%
dbiEE  |#RETER{E S ET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deisE | EREEREN P ET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deiEE | EREERAR T ET 9 6] 66.7% 3]  333% 3 0 0 0.0%
dtiEE |2 MAEEARAT 3 3| 100.0% 0 0.0% 0 0 0 0.0%
dtiEE ¥ ERER EE ER AT 0

dbigE | FERERARAT 2 1] 50.0% 1 50.0% 1 0 0 0.0%
deiEE | AR/ \EHT 10 10 100.0% 0 0.0% 0 0 0 0.0%
diEE LA R 5 ERET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
E ./gé ﬁﬁg{ﬁ%gm 9 5|  55.6% 4] 44.4% 3 1 0 0.0%
ItiEE i / 0

deiE |48\ L ARIE R AR AT 2 2| 100.0% 0 0.0% 0 0 0 0.0%
disE  |EEENZ ST 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EL%: - E Yk ) 2 2| 100.0% 0 0.0% 0 0 0 0.0%
dbisE | BAHAERS S ET 4 2| 50.0% 2] 50.0% 2 0 0 0.0%
E .g;_ %ﬁggg@%m 4 4| 100.0% 0 0.0% 0 0 0 0.0%
AL L ¥ 0

JtEE | FERER S BT 0

dbiEE | FEAERE M NET 0

deiE | AR BT 0

deiEE  [RCEER—tofT 0

dbiEE | AR E R 0

dbieE (A EERER EEA 1 1] 100.0% 0 0.0% 0 0 0 0.0%
dtimE | br A ERS s AT 0

E& I E = X 0

dbiEE R ER{EANZET 5 5| 100.0% 0 0.0% 0 0 0 0.0%
dbiEE  [ERERLFNET 1 0 0.0% 1] 100.0% 1 0 0 0.0%
:.g;_ §W§E%EQEHT 7 5|  71.4% 2] 28.6% 1 1 0 0.0%
AL L E]E ; N 0

dbisE | AR E A 0

dbiEE | *ﬂﬂgfﬁﬂﬂﬂﬁ 0

tEE [ SEEEE 0

dbiEE [ RTEMCA <BT 0

Eg ,ﬁggigmm 16 11]  68.8% 5|  31.3% 5 0 0 0.0%
dtiEE  |Rwm JIF 0

deigE | 2240 AR EI AT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
E gg ngggJ ; JIIE 5 5] 100.0% 0 0.0% 0 0 0 0.0%
Jt ERbJI 0

dbimE [ SEERER{HET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
dbiEE | S sREFRIBET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
_gg é?ﬁzﬁmm 14 13[  92.9% 1 7.1% 0 1 0 0.0%
e =k 9=FiAi 0




37 = = > O N
ZEEENERERRO—FY YT (EH2249 8308 8%E)

EERFR |HXETH i L Z,;%W" = HEHY |25 (225 [235E | |FEEZL |ZE
dbiEE | E EREHEIET 0

EFS T i we I 1 1] 100.0% 0 0.0% 0 0 0 0.0%
diEE |FEBKE 4 0

dbiE  |[FREERR A RIET 0

diEE  |REAFEA 0

dbimE  [FREERILEET 0

dbiEE  |FEARAEHET 0

dbifeE  |[FREEEReR A0 N ET 0

deigE | b )| BREEAR T 4 4] 100.0% 0 0.0% 0 0 0 0.0%
deifgiE | B BRER ph AT 6 5|  83.3% 0 0.0% 0 0 1 16.7%
deiEE | E)IER 2 RRET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deigE | B EREE AR AT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deiEE | E)IERERIET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deigE | E)IER.EJIET 0

deiEsE | E)IERER)IIET 0

deiEE b )IERSETEAT 12 12| 100.0% 0 0.0% 0 0 0 0.0%
dbiEE | ZHELEE R EE 5 3|  60.0% 2[  40.0% 2 0 0 0.0%
diEE | ZHEGE B EFE 1 0 0.0% 1] 100.0% 1 0 0 0.0%
disE | A= B EFE 0

disE |BSHEHEH 0

deisE | E)IERFNERT 0

deigaE | b )| BRI T 0

deiEE | EJIERTFIIET 0

deigE o)1 BR SR 5 4] 80.0% 1 20.0% 0 1 0 0.0%
dbigE o)l ERE B R AT 0

deigE o)1 BRI T 0

dbiEE  |[HEEEREAERT 2 2| 100.0% 0 0.0% 0 0 0 0.0%
deiEE | BREE AR/ ET 2 0 0.0% 2] 100.0% 2 0 0 0.0%
deisE | S RIER & AT 0

dbiEE | S RTAR MR AT 3 2]  66.7% 1 33.3% 1 0 0 0.0%
deisE | S RIER DL A AT 0

dbiEE | XIE A& Al ET 4 2]  50.0% 2] 50.0% 2 0 0 0.0%
dbiEE | RIEEKIGET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
deigiE | K15 AR E AT 0

diEE | RAEEIRIM 1 0 0.0% 1] 100.0% 1 0 0 0.0%
deisE |4k S AR EAE B AT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deigiE |4k SEER s Al AT 0

JbiEE i%%ﬁ#ﬁ%ﬂﬂ 8 0 0.0% 8] 100.0% 1 7 0 0.0%
:.uﬁL %isgr‘ 0

deiEE 2L IEK*LIEHT 5 4]  80.0% 1 20.0% 1 0 0 0.0%
deisE | FIFERFI AT 3 3| 100.0% 0 0.0% 0 0 0 0.0%
tEE  |FIREFIRE TR 0

dbisE |48 EERSS MR AT 29 24|  82.8% 5]  17.2% 2 3 0 0.0%
deiEE  |iEE AR AT 0

disE  |RIE AR BT 4 4  100.0% 0 0.0% 0 0 0 0.0%
deiEE  |RIEERE B ET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
deimE | RIS ER/NEKET 1 0 0.0% 0 0.0% 0 0 1] 100.0%
deiEE  |E = AR F RFET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
dtisE |EEEEFE 0

i |E = Ak = T 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deiEE | SR ER R e T 8 5]  62.5% 2] 25.0% 2 0 1 12.5%
deiEaE | #0R RIS Al ET 4 4| 100.0% 0 0.0% 0 0 0 0.0%
:.uﬁ)_ %IE'JEEIEJ_ET 0

JLEE (R EREER AT 0

JbiEE (S RIER AR 0

deiEaE |30 AR i ECET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
dbiEE  |#EERRAZEET 1 0 0.0% 1] 100.0% 0 1 0 0.0%
JeiEE  |hCEHARE EET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
dbisE | HERELTEE 0

e  |BZEaZH 4 1] 25.0% 3] 75.0% 3 0 0 0.0%
dtisE |SHEEEE 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deiEsE | b AR AR AT 20 11 55.0% 4]  20.0% 3 1 5  250%
E&SCEl EXREE 30 2 2| 100.0% 0 0.0% 0 0 0 0.0%
dbigE  |SHAO AR 0

dbiEE [ RERH S AT 5 3]  60.0% 1] 20.0% 0 1 1] 20.0%
dtiEE 7 AR S ER AT 0

ER S E et st 1 1] 100.0% 0 0.0% 0 0 0 0.0%
JEE A RS Ar 9 6] 66.7% 2] 22.2% 2 0 1 11.1%
dbiEE  [AR{LERER{LET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
deimE  [IRRERZ YEHET 0

dbiEE (A SERFRO A BT 23 16]  69.6% 5  21.7% 5 0 2 8.7%
deigE | ERARE AT 11 8]  727% 2]  18.2% 2 0 1 9.1%
dbiEE (AT AR HRAT 5 3|  60.0% 2] 40.0% 1 1 0 0.0%
deiEE  |SArER AR b HRET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
dbiEE [T ERRE B ET 4 4] 100.0% 0 0.0% 0 0 0 0.0%
deigE | BB ISET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
dbisE [ JIEREIKET 5 5| 100.0% 0 0.0% 0 0 0 0.0%
deiEE  |ATFE AR S EET 2 1 50.0% 1 50.0% 0 1 0 0.0%
dbiaE  [sarea AR R AL AT 0

deiEE  |ATFE AR Bl 4L 1 1] 100.0% 0 0.0% 0 0 0 0.0%
dbimE (L EERASET 1 0 0.0% 0 0.0% 0 0 1] 100.0%
dtiEE  |[REELER 0

dbiE (o)1 ERE R ET 4 4] 100.0% 0 0.0% 0 0 0 0.0%
deiEE oIl &Rt FHET 0

E& Sl EaE =00 0

deiEE | )IERA I ET 2 1 50.0% 1 50.0% 1 0 0 0.0%
tEE  |EEEEEE 3 3| 100.0% 0 0.0% 0 0 0 0.0%
dbisE | 2 2 ARRE I AT 2 2| 100.0% 0 0.0% 0 0 0 0.0%

3




7 === =, N . O T ek

ZEEEXNRAFERRO—F YT (F2249 A30AHE)
AR |RATH mEd | [r2%” 2 | [nEsY (2 |omm sk | HESL |82
deigE | RS AR IR AT 5 4] 80.0% 0 0.0% 0 0 1] 20.0%
dbieE (SRR ERSI RRET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
digE  |[EEANE R 3 1] 33.3% 2] 66.7% 1 1 0 0.0%
dtiEE (/S AR R AT 0
deigE )1 BRAE S ET 2 1] 50.0% 1] 50.0% 1 0 0 0.0%
dbieE )1 EER R F TR MY 2 2| 100.0% 0 0.0% 0 0 0 0.0%
deifE  |RIEEBEEH 0
E&SCElI=E A=t L 0
bl |F (AR ET 2 0 0.0% 2[ 100.0% 2 0 0 0.0%
deisE |12 AR chiZ AT 19 19] 100.0% 0 0.0% 0 0 0 0.0%
deigl  |4Z 2 AT 2 1] 50.0% 1] 50.0% 1 0 0 0.0%
duimE | B RUERFEEIET 0

i 6,829 4654| 68.2% 1,863 27.3% 367| 1,496 312 4.6%




ZIEESxRL 2
HEEFERO—R <y (Ef22498
30B1HE)

TR

EERFE (FXETH
EE M E ‘ L
EfE [shBIM ik PO
FHE %@EZ 176 iﬂﬁm il HESY |25
SHE Fl[z 117 85.8% 2045 2345 | (B
EGE 2H 108 104]  88.0% 25| 142% | |sELL |25
ERE e a L 10 70| 64.8% R -
AR [= ?ﬁfﬂﬁi 26 8l 800 38] 3504 23 8 o oo
e 17 5[ 577% S—ozy 2519 of__oox
Lt o ] 6] 941% 1] 42.3% 1 0.0%
L’R ’373‘; 0 0 4 0
EX - il 11 1| 100.0% 1 50% 7 0.0%
Hk ;f”ﬂi 2 9| 818% T e m— of_oo
ERE ig?ﬁlﬁﬁmm 11 2| 100.0% 1 91% 2 0 2 0.0%
BHE ﬁgg%gge, ST 2 9] 818% o 00% 0 1 o 00
nite  Bom i 0 i|_s00% o —a— s
EHR ﬁ?ﬁgf‘%w&m 0 1| 500% : 1 - 0.0%
EHE BEgll ZRn 2 0 ol oo
E5E | mgi%ﬁﬁi%jﬁ AT 1 2| 100.0% 0.0%
FRE |5 £ E8F E AT 0 0 00k of 00% 5
Hk m?ﬁgﬂﬁ%wﬁm i oo oo -
E5E EITHIPS C1i 2 1| 100.0% 0 0.0%
. = i 1| s0.0% T I 1]_100.0%
S Ee L 0 o oox T -
. oLl 0 e o oo
e 0 i o oo
o 0 0.0%
i AT oL 2 .
N i 5 100.0% -
e 0 1 2004 T
D AT o] 1 7 T 0 5
EhE [F LER S 7 AT 30 o[ 00% 3 ]
D LABS el 7 30| 100.0% 1] 10004 1 0.0%
Lir  TEasn 2 7| 100.0% S R 5
EHE [T LR i A 0 4| 100.0% o _00% 5 0 3 0.0%
[r  TEamian 2 T B E— of__oox
EHE |= AL ERE 0 o 00% 0 oo
A el 0 3[ 10005 0 0.0%
EHE =E A FE 1 2 5
e ] 10 o[ o0s 00%
[ SCamy 0 11004 1] T000% 1
E@L%W 1 9] 90.0% 7 0 7
] i 0 o 00% 2 3 0.0%
e 1 = 1] 100.0% - - 0.0%
552 0.0% 0
435] 78.8% 1| 100.0% 5 0.0%
55 60 0.0%
2] o4y




ZEEENERERRO—FY YT (EH2249 8308 8%E)

AR | RATH mew | (TSR (o2 | [fEsy |42 |eem 2| HESL |82

AFE |EEH 313 270]  86.3% 37| 11.8% 6 31 6 1.9%

EFE |=4m 13 10  76.9% 2|  15.4% 2 0 1 7.7%

EFE | KMiEH 3 2| 66.7% 0 0.0% 0 0 1] 33.3%

EFE |fEEWm 29 26|  89.7% 3] 10.3% 2 1 0 0.0%

EFE [t 33 24  72.7% o]  27.3% 3 6 0 0.0%

EFE |A#EH 8 2|  25.0% 6]  75.0% 3 3 0 0.0%

A2FE |EHT 3 1 33.3% 1 33.3% 1 0 1 33.3%

EFE |—BmW 18 8|  44.4% 10[  55.6% 5 5 0 0.0%

EFE |EfisHT 3 3| 100.0% 0 0.0% 0 0 0 0.0%

EFE |£FmWm 4 4] 100.0% 0 0.0% 0 0 0 0.0%

EFE |ZFm 19 11]  57.9% 5|  26.3% 1 4 3| 15.8%

EFE |J\BEH 5 0 0.0% 5] 100.0% 2 3 0 0.0%

EFE  |BdH 54 43| 79.6% 9]  16.7% 3 1 2 3.7%

EFE |EFHTAM 1 1] 100.0% 0 0.0% 0 0 0 0.0%

EFE |EFEHEAME 0

EFE |EFEHEFH 14 12]  85.7% 2] 14.3% 1 1 0 0.0%

EFE |EFEERM 11 8|  72.7% 3| 27.3% 1 2 0 0.0%

EFE |SIREVEIRET 6 5|  83.3% 1 16.7% 1 0 0 0.0%

EFE |SRREAEMET 7 6] 85.7% 1 14.3% 1 0 0 0.0%

EFE |AEEFEEE 0

EFE |EREE~IGHT 3 3] 100.0% 0 0.0% 0 0 0 0.0%

EFE |FEEHETRAT 1 0 0.0% 1] 100.0% 0 1 0 0.0%

EFE |HEHERERNE 0

EFE |SALEMEEHET 0

EFE | EERRERAKAET 0

EFE | TERAFEILEM 0

EF5E | TERFRAERAT 2 0 0.0% 1| 50.0% 0 1 1 50.0%

EFE | TERFEIHEE MM 0

EF5 | TERFEAEAH 0

EFE | AFEERAKM 0

2FE [ AFEFHEH 0

EFE |AFEAFHM 0

E2FE [ AFEGEEM 0

AFE |“FE—FH 3 3| 100.0% 0 0.0% 0 0 0 0.0%
&t 553 442  79.9% 96| 17.4% 37 59 15 2.7%




ZEEENERERRO—FY YT (EH2249 8308 8%E)

HERFR |HRATH s E,%%” zs | |sEsy |#e |oem|oEE| wESL |22
=RE [WEHTEER 245 149]  60.8% 86| 35.1% 11 75 10 4.1%
=R EHEREX 171 112]  65.5% 58]  33.9% 3 55 1 0.6%
EHRE [lEmEHKRX 170 130]  76.5% 40  23.5% 0 40 0 0.0%
=R AmABR 173 73] 42.2% 100]  57.8% 7 93 0 0.0%
EHE EHREX 77 56] 72.7% 21 27.3% 0 21 0 0.0%
ERE [GEm 57 28]  49.1% 27| 47.4% 24 3 2 3.5%
=RE  [IE®Em 26 19  73.1% 6]  23.1% 0 6 1 3.8%
EHE [SEBTH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EHRE [BAM 14 9]  64.3% 5|  35.7% 1 4 0 0.0%
ERE [4EH 27 16] 59.3% 1] 40.7% 3 8 0 0.0%
=ERE  [A@AmH 6 6] 100.0% 0 0.0% 0 0 0 0.0%
R [ZEWH 38 32| 84.2% 6]  15.8% 2 4 0 0.0%
ERE [HiIEHm 22 15  68.2% 7] 31.8% 3 4 0 0.0%
EHE  [BXh 7 6] 85.7% 1 14.3% 1 0 0 0.0%
ERE [FRH 40 17  42.5% 23] 57.5% 16 7 0 0.0%
EHE [FEHRET 20 9]  45.0% 11]  55.0% 0 11 0 0.0%
ERE [ XiGH 61 46|  75.4% 12 19.7% 6 6 3 4.9%
Eﬁiﬁ,: ;u Eﬂgﬁim 3 3| 100.0% 0 0.0% 0 0 0 0.0%
=R =] 4 BT 0
BR[| EER A R ET 8 6] 75.0% 2] 25.0% 0 2 0 0.0%
EE  [SEHERAT HET 5 4] 80.0% 1 20.0% 0 1 0 0.0%
EE  [SHEEPLEMET 14 9  64.3% 4] 28.6% 1 3 1 7.1%
EE  [SEEHER) (| EET 4 2]  50.0% 2] 50.0% 2 0 0 0.0%
EEE  [FEEAFRET 5 2] 40.0% 3] 60.0% 0 3 0 0.0%
ERE [SMEEE AT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
=R [EEEERLISTET 3 2]  66.7% 1 33.3% 1 0 0 0.0%
EE [ EER SR 4 2| 50.0% 2] 50.0% 0 2 0 0.0%
EE  [EEt 4 EET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EHE (= ENFATET 5 3| 60.0% 2| 40.0% 1 1 0 0.0%
=R [Z)IBRKFIET 13 12]  92.3% 1 7.7% 0 1 0 0.0%
EHE  [Z)IERKHIET 6 4] 66.7% 2| 33.3% 0 2 0 0.0%
ERE [ZNBEAE 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EHE [EIEREH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EYE [ AnEEREFRET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EVRE  [HnSEEFI0SEET 4 3| 75.0% 1 25.0% 1 0 0 0.0%
EHE [EEEEAHE 19 1] 57.9% 8] 42.1% 4 4 0 0.0%
ERE [EHAEEM 10 7] 70.0% 3] 30.0% 1 2 0 0.0%
EIE  [HREERZIET 4 1] 25.0% 3] 75.0% 3 0 0 0.0%
EE [ A AR = REAT 1 0 0.0% 1] 100.0% 1 0 0 0.0%
&t 1272 804| 63.2% 450 354% 92 358 18 1.4%




ZEEENERERRO—FY YT (EH2249 8308 8%E)

HRATH mw | [pai e #12  |emE HELL |22
PEH 257 219]  85.2% 36]  14.0% 22 4 2 0.8%
BT 30 25  83.3% 3] 10.0% 3 0 2 6.7%
BFEH 33 31]  93.9% 1 3.0% 1 0 1 3.0%
AEET 23 19]  82.6% 3] 13.0% 2 1 1 4.3%
BEEH 6 6] 100.0% 0 0.0% 0 0 0 0.0%
SiRT 5 4] 80.0% 1] 20.0% 0 1 0 0.0%
BEfAh 3 2|  66.7% 0 0.0% 0 0 1 33.3%
BHEIAER 12 12| 100.0% 0 0.0% 0 0 0 0.0%
B 6 4] 66.7% 2] 33.3% 2 0 0 0.0%
KAl 20 18]  90.0% 1 5.0% 0 1 1 5.0%
LFETT 3 3| 100.0% 0 0.0% 0 0 0 0.0%
[MNESH 6 6] 100.0% 0 0.0% 0 0 0 0.0%
e[ 2 1 50.0% 1 50.0% 0 1 0 0.0%
FE £ BR /MR BT 0
bR EER L/l AT 0
LLI A< 2B ik B HT 0
LA =FEET 4 4] 100.0% 0.0% 0 0 0.0%
LA ER ) \IE BT 0
RN ER 3k B AT 0
EE A E AR\ ER R AT 0
EE R AR H I ET 0
LR PN L) 0
fily At BR = SR ET 2 1| 50.0% [ 50.0% 0 0 0.0%
Eﬁﬁ#ﬁﬂﬁﬂ%mﬁ 3 0 0.0% 66.7% 2 1] 33.3%
i 5 AR 2R R AR A 0

it 415 355 85.5% 12.3% 32 9 2.2%




ZEEENERERRO—FY YT (EH2249 8308 8%E)

18 [ ’% X o 5 7_::/’&"/ = =
%Ba.ﬁjﬁ:Lr Fﬁl:jizﬁ i LM 25 HEHY (FE |225E |23FE | (HELGL |FE
0} 7 S T 236 219]  92.8% 6] 6.8% 7 9 1 04%
LR R 20 17 85.0% 3[ 15.0% i 2 o _oo%
ﬁ 1. %EE 47 44 93.6% i 2.1% 0 [ 2] 43%
TT5 % N e = R 7 IO I T

il M .0% . 0 2 %
M- NESh 29 28] 96.6% i 345 0 i g S0
W8 | Em ' oo

2 i 28 23] 82.1% 5] 17.9% 5 0 o 0.0%
T 9: HLIJE 4 4  100.0% 0 0.0% 0 0 0 O'O'y:
il [Rs 8 7 87.5% 1 12.5% 1 0 o] 0.0%
7 WS i 22 21] _ 955% 1 45% 0 i o _oo%
LB [ R 17 4] 82.4% 3] 17.6% 2 1 o 0.0%
LR e 3 o 0.0% 3[ 100.0% 3 0 o ook
mff,é BBh___ 10 8] 80.0% 2] 20.0% 1 1 o] 0.0%

M GIME I 4 4] 100.0% o 0.0% 0 0 o oo%
T} 71 S ST T 2 2] 100.0% o[ 0.0% 0 0 o _oo%
ﬁiag %_: ﬁggg}dﬁg 6 6] 100.0% o 00% 0 0 o oo%

b AN 0 .
W8 [FEHILERSR 2 BT 0
mff,: P AT LLES AT AT 6 6] 100.0% o __oo% 0 0 o _oo%

7 I ESHITE (PN 3 2 66.7% 1] 33.3% i 0 o oo%
m;f’é Eiggg Eg i 1| _100.0% o 00% 0 0 o 0.0%
2R B B 0 -

Wi |[& EERATRZET 1 ’

IEE (L ERe=I i T To00 o T ) o oo
1.9 I . ) .
m;jg fi?ﬁﬁ D 2 2| 100.0% 0 0.0% 0 0 0 000/:
2R g ] 0 -

g [ EEBFRHM 1 1] 100.0%

7 R . o oo% 0 0 o _oo%
IJ.HLL:R REBNS S 2 2| 100.0% 0 0.0% 0 0 0 0.0%
mﬁf;r %Eg\%%ﬁulﬁﬂn 2 2| 100.0% 0 0.0% 0 0 0 0.0%
mgzyg gggggg% g 4 4 100.0% o 00% 0 0 o] 0.0%
LR IR ERHOR 1 1| 100.0% o 00% 0 0 o 00%
Uik [GEESRS 1 o oo% 1] 100.0% 1 0 o] 0.0%
IJJﬁ;‘:?: z A =)I1HT 1 1] 100.0% 0 0.0% 0 0 0 0.0%

A B[ ZEE FIHT 6 6] 100.0% o 00% 0 0 9
AT 0 —

it 562 516 91.8% 43 7.7% 24 19 3 0.5%




ZEEENERERRO—FY YT (EH2249 8308 8%E)

HERFR |HRATH s E%g" zs | |sEsy |#e |oem|oEE| wESL |22
=EE |t B 211 193]  91.5% 11 5.2% 2 9 7 3.3%
BEEE |&EFNH 35 29|  82.9% 6]  17.1% 1 5 0 0.0%
=EE |EUH 297 153]  51.5% 86  29.0% 50 36 58]  19.5%
FEE |LwbhEm 159 96|  60.4% 50]  31.4% 28 22 13 8.2%
BEE |Bam 19 10]  52.6% 7] 36.8% 3 4 2] 10.5%
B/EE |BEZH 46 37|  80.4% 5] 10.9% 2 3 4 8.7%
BEE |E%AH 3 3| 100.0% 0 0.0% 0 0 0 0.0%
EEE [HEH 15 13|  86.7% 1 6.7% 0 1 1 6.7%
BEE |—AWH 12 12] 100.0% 0 0.0% 0 0 0 0.0%
ZEE |Afh 4 4] 100.0% 0 0.0% 0 0 0 0.0%
ZEE |EHEEN 83 34]  41.0% 49]  59.0% 32 17 0 0.0%
EEE |[FBEH 4 3] 75.0% 0 0.0% 0 0 1] 25.0%
FERE |XEH 14 14] 100.0% 0 0.0% 0 0 0 0.0%
EEE |[FERETE 3 3| 100.0% 0 0.0% 0 0 0 0.0%
EEE |FERERE 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EEE |[FEERIE 1 0 0.0% 1] 100.0% 1 0 0 0.0%
EBEE |RERAEH 0
EEE |EREEAE 2 2| 100.0% 0 0.0% 0 0 0 0.0%
BEE |HEEBREM 3 2|  66.7% 1 33.3% 0 1 0 0.0%
EEE |FESEE AT 2 2| 100.0% 0 0.0% 0 0 0 0.0%
BER Eg: 2 LA L) 0
EEE RZER RHE] 0
EER S EEEAT 3 3| 100.0% 0 0.0% 0 0 0 0.0%
BEE |HREFERILIG AT 0
=558 |HRRRERFEREET 0
E5E |HRRREREEHHET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
2558 |EREEARYE A (KT 1 1| 100.0% 0 0.0% 0 0 0 0.0%
BEE |ALAEEER TH 0
EEE  [FLZEGSIFE 0
BEE  |ALBERMERT 0
EERE |[KBB=EH 0
BEER | XKBEHEILAT 0
EERE |[KBEBIH 0
BEE | KBBELEXEHE 1 1] 100.0% 0 0.0% 0 0 0 0.0%
REE  |FRA AT 6 6] 100.0% 0 0.0% 0 0 0 0.0%
EBEE A RIEGH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
REE [ARAEDEH 0
EEE AR AAREWAT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
TG A=E =L 6 6] 100.0% 0 0.0% 0 0 0 0.0%
EEE |[EANIEESE 2 1] 50.0% 1| 50.0% 1 0 0 0.0%
BEE |EB/IAMSHT 4 4] 100.0% 0 0.0% 0 0 0 0.0%
EEE  [FEAJIEENH 2 1] 50.0% 1| 50.0% 1 0 0 0.0%
BEE |RIEEREIIHE 8 8| 100.0% 0 0.0% 0 0 0 0.0%
BEE |RIEBEINH 3 3| 100.0% 0 0.0% 0 0 0 0.0%
"REE |[R)IIEFEAHF 3 0 0.0% 3| 100.0% 3 0 0 0.0%
EEE  |RIIEENIET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
BEE |R)IEHEAT 4 2| 50.0% 2] 50.0% 2 0 0 0.0%
EEE |AFE=FH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
REE  |HAAER/NFRET 0
EEE | WERLERE 3 3| 100.0% 0 0.0% 0 0 0 0.0%
BEE [ NEEAMEIEAT 3 3| 100.0% 0 0.0% 0 0 0 0.0%
EEE | WEAE AT 8 8] 100.0% 0 0.0% 0 0 0 0.0%
BEE |[ERIRF 2 0 0.0% 2| 100.0% 1 1 0 0.0%
EEE | WEEAREM 0
BEE NIRRT 0
EEE | WERUEITH 5 4] 80.0% [ 20.0% 1 0 0 0.0%
BEE |[WERBEH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EEE A & Bl 37 th T 16 12| 75.0% 4] 25.0% 3 1 0 0.0%
EEE |HERREN 0

it 1005 688 68.5% 231 23.0% 131 100 86 8.6%




7 === =L > o
ZEREE X REERERO—F YT (ER2249A308H%)

EERFR | XETA HEERE }’,;;?g"’ = EEBHY |ZE |225E |235E | (HEEL |ZE
RPE |KFE™H 97 60| 61.9% 37| 38.1% 0 37 0 0.0%
B3I =i 31 16]  51.6% 9]  29.0% 3 6 6]  19.4%
RPE |TiEH 21 12|  57.1% 6]  28.6% 2 4 3| 14.3%
IREE  |&ih 21 14]  66.7% 6] 28.6% 0 6 1 4.8%
RWE |BET 14 8] 57.1% 3 21.4% 0 3 3| 21.4%
IREEE  |#EET 3 3] 100.0% 0 0.0% 0 0 0 0.0%
RPE |EESIGTH 20 17]  85.0% 2] 10.0% 2 0 1 5.0%
IRHE | FEH 3 0 0.0% 3| 100.0% 0 3 0 0.0%
RWE |EEH 5 5] 100.0% 0 0.0% 0 0 0 0.0%
RPE [EEAHT 10 5|  50.0% 4] 40.0% 0 4 1 10.0%
RPE |SFH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
RPE  |deREH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
ZBE |ZEH 5 2]  40.0% 1 20.0% 0 1 2] 40.0%
ZBE |BFH 32 26 81.3% 4] 12.5% 3 1 2 6.3%
TEE AT 20 11 55.0% 6] 30.0% 3 3 3 15.0%
TEE  [o<IEmH 15 12|  80.0% 3] 20.0% 2 1 0 0.0%
ZBE |Of-bhsmh 27 21 77.8% 6]  22.2% 2 4 0 0.0%
e |EIeth 5 3] 60.0% 1] 20.0% 1 0 1 20.0%
ZBE Bk 12 5  41.7% 7] 58.3% 7 0 0 0.0%
RBE |SFA™H 5 4]  80.0% 1 20.0% 1 0 0 0.0%
ZBE |EEXEH 2 0 0.0% 1 50.0% 0 1 1 50.0%
ZWE  |ARET 4 1| 25.0% 3] 75.0% 0 3 0 0.0%
TEE  |BAAT 14 10|  71.4% 4]  28.6% 0 4 0 0.0%
RBE |RETH 1 0 0.0% 0 0.0% 0 0 1] 100.0%
ZRE  |TEET 57 15|  26.3% 2]  737% 39 3 o[ 0.0%
RPE | HhTHHI5H 6 3]  50.0% 2| 33.3% 0 2 1 16.7%
ZBE 2 2 1 50.0% 1 50.0% 1 0 0 0.0%
RPE AT 6 6] 100.0% 0 0.0% 0 0 0 0.0%
TEE |{TAH 4 3] 75.0% 0 0.0% 0 0 1 25.0%
REE  |#E™ 0
ZWE | 2KEHSLTH 5 5| 100.0% 0 0.0% 0 0 0 0.0%
RPE [EET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
RBE [ BERIBEEBRILET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
KB | RRIMERAEET 0
RS | IRIAAR YL B T 0
REPE | AWEECEN 3 3] 100.0% 0 0.0% 0 0 0 0.0%
RBE |AFEEKFH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
REPE  |TREBERE A 17 3 17.6% 14| 82.4% 12 2 0 0.0%
RS | FEECAR A R ET 7 1 14.3% 4] 57.1% 2 2 2] 28.6%
RPE | FEEER AT AT 0
ZBE  [#EWER/\FET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
RPBE |REEAER 3 1 33.3% 2] 66.7% 0 2 0 0.0%
REE  |I=SEEET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
(REE  [Jb48 5 BRFIAR T 1 1l 100.0% 0 0.0% 0 0 0 0.0%

it 487 286 58.7% 172|  35.3% 80 92 29 6.0%




o
fm

52 =2 = N N
ZIEEENRAERZO—F YT (Er2269830A5%E)

R | ETH MR E%’Q"’ we | |wEsy |#e  |oem|pee| sEsL |22
KE [F#=ETh 180 80| 44.4% 77[  42.8% 3 74 23] 12.8%
KE |[RBFh 41 38| 92.7% 3 7.3% 0 3 0 0.0%
KE [#AH 5 4] 80.0% 1] 20.0% 0 1 0 0.0%
KE [£Hh 7 2| 28.6% 4] 57.1% 2 2 1 14.3%
RE [B&iZh 6 6] 100.0% 0 0.0% 0 0 0 0.0%
KE [BXwH 14 14| 100.0% 0 0.0% 0 0 0 0.0%
RIE [/l 31 20|  64.5% 5]  16.1% 2 3 6]  19.4%
KE |[Efh 4 2|  50.0% 2] 50.0% 0 2 0 0.0%
KE [KHIREH 15 12|  80.0% 2] 13.3% 2 0 1 6.7%
KE [Xtk 17 10[  58.8% 7] 41.2% 1 6 0 0.0%
KE [FEEIET 9 5]  55.6% 4] 44.4% 1 3 0 0.0%
RE  [&<Kbh 10 8] 80.0% 2] 20.0% 0 2 0 0.0%
KE [FEEILF 1 0 0.0% 1] 100.0% 1 0 0 0.0%
KE |T%Hm 17 13]  76.5% 4]  23.5% 0 4 0 0.0%

AR [aERE = )IET 4 2|  50.0% 2] 50.0% 0 2 0 0.0%
KE | FEREARFE S BT 0
KE [FEARIEFH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
KIE [FEE AR 1 0 0.0% 1] 100.0% 0 1 0 0.0%
RE [FEIHTEE 0
KIE [FERFER 1 0 0.0% 1] 100.0% 0 1 0 0.0%
RIE [ TARZEARFAHET 0
KIE [T BREFART 7 4]  57.1% 3] 42.9% 1 2 0 0.0%
RIE [ TARE 2R & FHET 0
RE [EREESE 6 4]  66.7% 2| 33.3% 0 2 0 0.0%
RIE [IERESERET 2 2] 100.0% 0 0.0% 0 0 0 0.0%
KIE [ARZEERARZERT 4 1] 25.0% 3] 75.0% 0 3 0 0.0%
KIE  [ARZEER AR 1 ET 4 4] 100.0% 0 0.0% 0 0 0 0.0%
it 387 232 59.9% 124|  32.0% 13 111 31 8.0%




7 === =L > o
ZIEEENRAERZO—F YT (Er2269830A5%E)
EERFR | XETA HEERE }',;;%%’ S E EEBHY |ZE |225E |235E | (HEEL |ZE
HER |RifEH 198 171 86.4% 26  13.1% 15 11 1 0.5%
HEE |sBh 198 160| 80.8% 29[  14.6% 21 8 9 4.5%
HEE |R&EH 32 25|  78.1% 7] 21.9% 5 2 0 0.0%
HEE ﬁ‘%%tmﬁﬁi 50 49|  98.0% 1 2.0% 1 0 0 0.0%
KHET 41 25|  61.0% 1] 26.8% 8 3 5|  12.2%
ﬁ%.g’. ﬁ?i 21 17| 81.0% 3] 14.3% 1 2 1 4.8%
fidl 15 1] 73.3% 4] 26.7% 2 2 0 0.0%
Il 17 13| 76.5% 4] 235% 0 4 0 0.0%
PR 12 8]  66.7% 4] 33.3% 2 2 0 0.0%
& [ 8 7| 87.5% 0 0.0% 0 0 1 12.5%
= fﬁfﬁ 10 7] 70.0% 1 10.0% 1 0 2| 20.0%
HEL 4 4] 100.0% 0 0.0% 0 0 0 0.0%
LB B AR AR R A 1 0 0.0% 1] 100.0% 0 1 0 0.0%
:ﬁ:?iﬁf;&ﬁm 2 2] 100.0% 0 0.0% 0 0 0 0.0%
7 S 0
% 87 R TR BT 0
H & BT HET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
'z'iﬁﬂgiﬁ 0
HZ BN H AT 0
: EERh 2 0T 6 6] 100.0% 0 0.0% 0 0 0 0.0%
EZEEFRET 0
EEZEIEAEA 1 1] 100.0% 0 0.0% 0 0 0 0.0%
FE AT RET 2 2] 100.0% 0 0.0% 0 0 0 0.0%
EZE e LA 3 3] 100.0% 0 0.0% 0 0 0 0.0%
;EJ%EB?E%EI 10 9]  90.0% 1 10.0% 0 1 0 0.0%
1|45 2 4 0
FIIREB) 354 0
FI1E ZRARF0H 1 0 0.0% 1] 100.0% 0 1 0 0.0%
FII 4R BB 773 h> A BT 5 2]  40.0% 3] 60.0% 1 2 0 0.0%
1% ; Eggfgm 2 1| 50.0% 1] 50.0% 1 0 0 0.0%
2 2 2R 4k = BT 0
[ 2 2 ZRBAF0 AT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
2 E T K HE 2 1 50.0% 1 50.0% 1 0 0 0.0%
éiaﬂxim 3 1] 33.3% 2] 66.7% 2 0 0 0.0%
EEI=ET) 0
it 647 528 81.6% 100  15.5% 61 39 19 2.9%




HEEMEO—K <y T (ERi2249A308H%E)

ZIEEEXER
i

MERFR |HRETH B E;ﬂ"’ we | |wEsy |#e  |oem|pee| sEsL |22
BEE |[SWV-FEHAERX 17 12]  70.6% 5] 29.4% 2 3 0 0.0%
BEE |[SL-FEHikR 85 64 75.3% 9]  10.6% 2 7 12 141%
BEE |[SWV-FEFAERX 100 71 71.0% 25  25.0% 16 9 4 4.0%
BEE SOV -FEHRERX 52 37  71.2% 15|  28.8% 7 8 0 0.0%
BEE |SWV=FEFHhREX 45 30[ 66.7% 15/  33.3% 4 11 0 0.0%
BEE SO FEhER 53 29[  54.7% 24  45.3% 4 20 0 0.0%
BEE |[SOW-FHEIX 127 99 78.0% 28  22.0% 10 18 0 0.0%
BEE |[SUV-FEhRER 99 65 65.7% 34  34.3% 7 27 0 0.0%
BEE SV FEmERX 36 18]  50.0% 18]  50.0% 3 15 0 0.0%
BEE |[SWV-FEhEREX 23 16|  69.6% 7] 30.4% 3 4 0 0.0%
BEE |JIEH 136 92|  67.6% 40  29.4% 17 23 4 2.9%
BEE |EATH 92 48]  52.% 36]  39.1% 4 32 8 8.7%
BEE [AmH 254 171]  67.3% 83|  32.7% 16 67 0 0.0%
J/ER |fTHEM 18 9] 50.0% 8|  44.4% 3 5 1 5.6%
BEE |#HRXW 17 14]  82.4% 2] 11.8% 1 1 1 5.9%
BER AR 133 91|  68.4% 34 256% 19 15 8 6.0%
BEE |fREETH 24 20| 83.3% 2 8.3% 2 0 2 8.3%
BEE AT 31 16|  51.6% 12| 38.7% 6 6 3 9.7%
BEE |AREM 23 17]  73.9% 2 8.7% 1 1 4 17.4%
BER |[E#TH 35 24|  68.6% 7] 20.0% 1 6 4] 11.4%
HEE |EFEHEH 117 80| 68.4% 37| 31.6% 11 26 0 0.0%
BEE [Eldh 68 58 85.3% 5 7.4% 3 2 5 7.4%
BEE |HE™ 4 3] 75.0% 0 0.0% 0 0 1 25.0%
BEE |[BEwm 43 23]  535% 15]  34.9% 6 9 5] 11.6%
BEE |FEA8H 38 22|  57.9% 10 26.3% 2 8 6] 15.8%
BEE |[EEH 66 52| 78.8% 6 9.1% 5 1 8|  12.1%
BEE |Emh 74 48]  64.9% 26  35.1% 4 22 0 0.0%
BEE |[H8h 97 71 73.2% 26]  26.8% 9 17 0 0.0%
BEE B 66 54|  81.8% 12|  18.2% 1 11 0 0.0%
BEE |FHAM 107 65| 60.7% 42| 39.3% 12 30 0 0.0%
HEE |ABMH 62 49  79.0% 10]  16.1% 4 6 3 4.8%
BEE Byt 19 15|  78.9% 4] 21.1% 1 3 0 0.0%
BEE | 75 50|  66.7% 25  33.3% 7 18 0 0.0%
BEE |[EXm 39 30  76.9% 9]  23.1% 4 5 0 0.0%
BEE |[Fkth 46 29|  63.0% 17]  37.0% 5 12 0 0.0%
BEE |FHEH 68 33[  485% 35 51.5% 12 23 0 0.0%
BEE |#@lm 31 24  77.4% 5[  16.1% 2 3 2 6.5%
BEE |[AEWm 42 22  52.4% 18]  42.9% 4 14 2 4.8%
BEE  [dtEm 16 13|  81.3% 1 6.3% 1 0 2] 12.5%
BEE [J\Bih 19 9]  47.4% 10]  52.6% 2 8 0 0.0%
HEE |[EXR™ 60 47|  78.3% 13]  21.7% 1 12 0 0.0%
BEE [=ZHH 62 38| 61.3% 24| 38.7% 5 19 0 0.0%
BEE |[EHT 14 8] 57.1% 4] 28.6% 3 1 2] 14.3%
BEE |RF™W 24 13| 54.2% 9|  37.5% 5 4 2 8.3%
BEE |EFH 14 6] 42.9% 5]  35.7% 2 3 3 21.4%
BEE |#BrBh 23 18]  78.3% 4] 17.4% 3 1 1 4.3%
BEE |HEh 7 4] 57.1% 3] 42.9% 2 1 0 0.0%
BER |EHlih 29 13]  44.8% 16]  55.2% 7 9 0 0.0%
BEE |SLHHH 33 22  66.7% 11 33.3% 2 9 0 0.0%
BEE |[TREMEFRAET 12 2] 16.7% 10|  83.3% 0 10 0 0.0%
BEE | AFB=35H 12 6] 50.0% 6] 50.0% 3 3 0 0.0%
BEE | ABEESILAET 6 4] 66.7% 1 16.7% 1 0 1 16.7%
BEE | AR BT 3 3[ 100.0% 0 0.0% 0 0 0 0.0%
BEE | EREIET 1 0 0.0% 1] 100.0% 0 1 0 0.0%
BEE AR ILET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
BEE | ER/NIET 7 3] 42.9% 2] 28.6% 0 2 2| 28.6%
BEE |HAEISE 3 0 0.0% 3| 100.0% 3 0 0 0.0%
BEE | EERAT 2 1 50.0% 0 0.0% 0 0 1] 50.0%
BEE [ EEILET 0 '
BEE | EEEADHE 0
BEE |BRAEMEARET 0
BEE |BRXEEERET 10 8] 80.0% 1 10.0% 0 1 1 10.0%
BEE |HREERFE 0
BEE |BRXE/NEEFET 2 1 50.0% 0 0.0% 0 0 1 50.0%
BEE |[BRERBERM 0
BEE |REEEZEH 2 1 50.0% 1 50.0% 1 0 0 0.0%
BEE |BEEE)IET 2 2[ 100.0% 0 0.0% 0 0 0 0.0%
BEE |BREEEEHE 6 2|  33.3% 3] 50.0% 0 3 1 16.7%
BERE |KERFEAT 7 3]  42.9% 3] 42.9% 2 1 1 14.3%
BEE |EHEEE=ERET 9 2] 22.2% 4] 44.4% 4 0 3] 333%
BERE |EEFA AT 20 13|  65.0% 7] 35.0% 2 5 0 0.0%
BEE |[ABEHEEZFH 23 14| 60.9% 8]  34.8% 6 2 1 4.3%
BEE B HEMMRET 5 1 20.0% 3]  60.0% 0 3 1 20.0%
it 2,896 1,929 66.6% 861| 29.7% 275 586 106 3.7%




= =z ==
FEEEXELEREO—RNT YT (ERH22498308E%A)

AT | R AT wa | [TV 22 | [wESY (22
:Fﬁl-r :Fﬁl_-iq]%z 103 4b$ == R I—l% ) ::.//1:1 22¢J§ 23EF§_ %"Et;l/ g://l?
TER [TEREAK 03 83| 612% 27 26.20% 7 20 3] 1260
62 1 WS urA 41 27| 65.9% 1] 26.8% 5 6 D
62 1 MES G 12 46| 63.9% 9] 26.4% 8 11 Tom
E2 I mES 12 48 21 45.7% 7] 37.0% 8 9 8l 1144
62 I mES 5 33 26]  78.8% 3 9.1% 0 3 I RPAD
TEA [Tan D 15| 75.0% 3[ i5.0% i 2 2 100k
E2 I MIEL ) 4] 44.4% 3] 33.3% 0 3 2 o0
E2 Wil 2z 01| 455% ol _410% 17| 74 30 135%
TR lnEn 0 132]  47.1% 83 206% 27| 56 651 2304
E2 T i 9 4] a44% 5] 5564 i 4 ol 004
E2 I MESE 26 9] 73.1% 3] 11.5% i 2 Al 1544
E2 W 06 o1 44.2% 94| 456% 17| 17 21 To2%
TEr [BEn 37 25| 67.6% o] 24.3% i 8 381
E2 1 Wk 3 24| 68.6% 7] 20.0% 4 3 A T
TER [gm 12 17| 23.6% 51| 7084 49 2 2 564
E2 I Wl 20 14| 70.0% 5] 2504 2 3 5%
E2 LML 18 18] 72.2% 1 564 i 0 A 220
S 1 - 13 3[ 21.4% 0] 71.4% 8 2 7%
E2 L 88 32| 37.6% 45| 520% o 36 8 o
2 1 i 5 89| 50.9% 58] 33.1% 8[ 50 28] T6.0%
TER [mam ¢ 2] 33.3% 4 66.7% 3 i o 0.0%
E2 { Wi 5 26 47.3% 20]  364% 12 8 ol Todn
E2 1 MG 51 29| 56.0% 20[ 39.2% 4 16 2 39
E2 I 38 9] 50.0% 7] 447% 10 7 a5
E2 e 5 54 38 6L1t 13 24.1% 7 6 8] T4.8%
TER i 12 4] 333% 1 83% 0 i 7 583w
E3 {2t 20 9 30.0% o] 63.3% i B 2 67
TRR ke 32 19| 59.4% 13| 406% 7] R o o0k
E2 T miy i 16 2] 75.0% 3] Tesx 0 3 IR
62 1l 46 25]  54.3% 1] 23.90% 3 8 ol 21 7%
TER [mET 32 24| 75.0% 5| 156% 3 2 YT
TER 4 27 79.4% 7] 20.6% i 6 o 00k
E2 1 I i 2 2] 100.0% ol 0.0% 0 0 o 0.0%
E2 | W 0 7] 700% 1 10.0% i 0 2 2004
TRA Joan 9 7 77.8% 1 11.1% i 0 1%
FER [BEn s o oo0% o oox 0 0 4l T000%
E2 I i i | o] 0.0% 1] 700.0% i 0 ol 0.0%
E2 1 Wit 4 T 2[ 182% 9] 81.8% 9 0 o 00k
E2 {3 o7 18] 26.9% 71| 701% 47 0 2 304
2 s 7 10| 27.0% 25]  676% 18 7 a5
:F%Lr FN 58 ER;8 < FHAT 4 2 Y ~
E2 Wb 700 4 50.0% 2] 500% i i o o00%
2 L L, 16 5| 1.3t 11| 68.8% K 0 o 0.0%
E2 it T 12 4] 333% 8] 66.7% 6 2 o 00k
E2 1t 31 1 18] 56.3% 4] 4384 14 0 o o0k
2 W T 1 1] 7000 o oo% 0 0 o 00k
E2 1M 58 /oE Ly 5 4l o7 1 16.7% 0 i 674
E2 1Ty S E 5 100.0% o] 0.0% 0 0 o o0k
IIF eroun 22 2] 545% 5| 22.7% 2 i 5 22.7%
T2 lummiss s 13| 92.0% 1 71% i 0 ol 00k
TR IscE_sh 2 2[ 700.0% o _oo% 0 0 o 00k
ITEE |EEERESEH 0 —
E= 7 NET3 e 0
I FEE | RAERMEE 0
TER (EEMEEE i il 000
TER [EEBREE ] 100.0% o oo% 0 0 o oo%
:F%E'z EACE Rk 1 0 Y ~
FEE |[REZEFRAT 2 1 588';l o0 : : ; oo

= = i .

it 2,188 1,109 50 7%‘; 801 50-0"/0 1 : : =

, . 6| 368% 335 471 273 125%




BRSO —K <y (ERk224983088H %)

ERE TR | X ETA HEERE b*ﬁgb = EEBHY |ZE |225E |235E | (HEEL |ZE
;gg& ;I;{;IEZHIZ 154 102]  66.2% 52  33.8% 7 45 0 0.0%
= X 270 243 90.0% 27| 10.0% 0 27 0 0.0%
R AKX 348 271 79.692 70 20.1% 6 64 1 0. 3%:
HEA |HEK 406 316]  77.8% 88]  21.7% 22 66 2 0.5%
BR[| XHERX 311 280]  90.0% 12 3.9% 5 7 19 6.1%
HEA |[BFRK 475 393| 82.7% 80[ 16.8% 11 69 2 0.4%
Eof ([EEX 349 262] _ 75.1% 86] 246% 25 61 [ o3%
HEE |[ITHERX 364 260]  71.4% 104  28.6% 41 63 0 0.0%
E W EEYITES 396 323  81.6% 73] 18.4% 6 67 0 0.0%
iiﬁ i%% 269 203  75.5% 66| 24.5% 9 57 0 0.0%
= HX 867 653  75.3% 214 24.7% 44] 170 0 0.0%
;g% ’rtEHE‘I: 637 490  76.9% 147]  23.1% 27| 120 0 0.0%
= ERX 298 226]  75.8% 27 9.1% 15 12 45| 15.1%
iiﬁ ;Ij@jEE 161 123]  76.4% 38]  23.6% 7 31 0 0.0%
= 283 215]  76.0% 68|  24.0% 3 65 0 0.0%
iﬁﬁ jt%l: 387 316] 81.7% 7 18.3% 8 63 0 0.0%
= X 365 256]  70.1% 109]  29.9% 58 51 0 0.0%
HEE |FEIIX 219 168]  76.7% 51 23.3% 13 38 0 0.0"/:
R |IREBX 500 372  74.4% 128]  25.6% 51 77 0 0.0%
B |[BEKX 383 287  74.9% 96]  25.1% 29 67 0 0.0%
HEA |[BUX 612 386 63.1% 226]  36.9% 97] 129 0 0.0%
R |BERX 445 297]  66.7% 148]  33.3% 61 87 0 0.0%
ER# [TFNX 400 258  64.5% 142 35.5% 61 81 0 0.0%
iiﬁ /\ﬁ;ﬁi 235 147]  62.6% 56| 23.8% 9 47 32 13.6%
= ] 97 54| 55.7% 29| 29.9% 15 14 14]  14.4%
E S YL 80 34|  425% 28]  35.0% 5 23 18] 225%
R ;E h 96 41| 42.7% 43| 44.8% 17 26 12| 12.5%
E ] =Eint 59 32  54.2% 16]  27.1% 2 14 11 18.6%
R rﬁ Elil 152 68|  44.7% 54| 355% 21 33 30 19.7%
iiﬁ gﬁiﬁ 36 15|  41.7% 19| 52.8% 8 11 2 5.6%
= e 126 78] 61.9% 44| 34.9% "
HRAN |BTH™ 158 79 50.0%3 61 38.6“/: 23 gg 13 1?}21"2
BEAE e 56 29|  51.8% 19| 33.9% 7 12 8]  14.3%
ii% g;Fﬁ 120 49| 40.8% 71| 59.2% 41 30 0 0.0%
= i 74 33|  44.6% 34| 45.9% 10 24 7 9.5%
iiﬁ ég;g 124 47| 37.9% 77 62.1% 51 26 0 0.0%
= 82 41| 50.0% 38| 46.3% 17 21 3 3.7%
ii% _*@;gﬁ 51 15|  29.4% 27| 52.9% 14 13 9] 17.6%
= BEH 35 10| 28.6% 20 57.1% 9 11 5|  14.3%
ii% g ;%;im 44 31|  70.5% 9] 20.5% 4 5 4 9.1%
= u 33 8]  24.2% 25|  75.8% 1 °
HEAL |BET 51 20 39.2%3 27] 52 sw: 13 g 2 (7J 2"2
REH [RABKD 51 25(  49.0% 26] _51.0% 1313 o] 0.0%
HEAD  [REMILh 25 17|  68.0% 8]  32.0% 1 7 0 0.0%
HE# |ZE™H 78 30| 38.5% 44| 56.4% 9 35 4 5.1%
EG M T 10 5]  50.0% 4] 40.0% 0 4 1 10.0%
ER# [FNH 22 14  63.6% 5|  22.7% 1 4 3] 13.6%
HEA |HEBHHT 19 12|  63.2% 5] 26.3% 2 3 2| 10.5%
READ |FAEREM 146 67| 45.9% 79| 54.1% 52 27 0 0.0%
RRE |78 %IRRT 8 1 12.5% 6]  75.0% 5 1 1 12.5%
;5-:% gggggg% ﬁ i) 6 3[ 50.0% 2]  33.3% 0 2 1 16.7%
=  ER A R A 0
B (SRR SRR 0
Ek x%m 2 0 0.0% 2] 100.0% 1 1 0 0.0%
= T S 0
BERE  [HEEH 0
HR# =4 0
RHm#  |EHEST 0
BmE  [/\XH 0
Rap# |[Fr et 0
REE  UNERA 0
H 10,975 7,711  70.3% 3001 27.3% 996 2,005 263 2.4%




337 === =L A o
ZEREE X REERERO—F YT (ER2249A308H%)

MERFR |HRETH Wl | |r2a” @12 | [HEsY @12 (o ewk | (HESL |82
A=) [BEREBERR 142 97|  68.3% 43]  30.3% 0 43 2 1.4%
ARG [BEhERIIIX 146 94|  64.4% 52|  35.6% 4 48 0 0.0%
=R |[HEHEX 38 31 81.6% 7] 18.4% 0 7 0 0.0%
#ENE [EETmPX 115 77]  67.0% 37]  32.2% 3 34 1 0.9%
=R |[HEHREX 82 69| 84.1% 8 9.8% 1 7 5 6.1%
AE)NE [BEGRELIr AKX 104 77]  74.0% 26]  25.0% 5 21 1 1.0%
IR [fEETEF X 58 44|  75.9% 9]  15.5% 1 8 5 8.6%
=R [BEmERK 76 65] 85.5% 5 6.6% 0 5 6 7.9%
fZ= )| 8 [#EmBIX 188 137]  72.9% 50  26.6% 0 50 1 0.5%
@I B [HERFIREX 128 96 75.0% 16]  12.5% 1 15 16]  12.5%
G2z )| 2 [#ETEAEX 112 73] 65.2% 17 15.2% 8 9 22| 19.6%
2 )I| R [BEHBEX 59 34| 57.6% 16]  27.1% 1 15 9]  15.3%
B2z || 2 [#EHRE 137 74| 54.0% 63|  46.0% 4 59 0 0.0%
)| R (B EHESX 41 29[  70.7% 4 9.8% 2 2 8]  19.5%
=8 [#BEhRX 27 13]  48.1% 8]  29.6% 1 7 6]  22.2%
=12 |[HERT R X 12 6] 50.0% 6] 50.0% 0 6 0 0.0%
BZ )| B [EEREEX 66 44| 66.7% 20|  30.3% 1 19 2 3.0%
21|12 [ EmARR 30 22|  73.3% 8]  26.7% 1 7 0 0.0%
Bz IE [ ) IS 220 133]  60.5% 16 7.3% 3 13 71 32.3%
)12 [JIIFhER 86 50] 58.1% 9]  10.5% 5 4 27 31.4%
B2 )18 [)IEHPRR 227 153]  67.4% 21 9.3% 1 20 53]  23.3%
)8 [ eEX 190 124  65.3% 19]  10.0% 4 15 471 24.7%
B2 I8 IIGHZEX 126 68| 54.0% 58|  46.0% 2 56 0 0.0%
w2118 [ =R X 114 45  39.5% 68  59.6% 8 60 1 0.9%
B2 )I[12 IS HRRERX 40 23| 57.5% 16]  40.0% 1 15 1 2.5%
= 1|12 [ MR R iRX 59 36| 61.0% 21 35.6% 2 19 2 3.4%
I8 MR ET PR X 174 104]  59.8% 56|  32.2% 1 55 14 8.0%
=112 (MR E TR X 131 70]  53.4% 54]  41.2% 4 50 7 5.3%
21|12 A E T 130 93|  71.5% 18] 13.8% 1 17 19]  14.6%
=12 | TFIRT 115 85| 73.9% 29]  25.2% 0 29 1 0.9%
IR |Bah 42 25| 59.5% 5[ 11.9% 3 2 12|  28.6%
EINAE 159 122]  76.7% 18] 11.3% 2 16 19 11.9%
iz )18 [/NAET 70 44| 62.9% 9 12.9% 6 3 17]  24.3%
eI EZAdCnn 84 66] 78.6% 18]  21.4% 3 15 0 0.0%
BB [BFH 20 14| 70.0% 0 0.0% 0 0 6] 30.0%
EINA S 12 8]  66.7% 0 0.0% 0 0 4| 33.3%
IR | R 43 31| 72.1% 12| 27.9% 3 9 0 0.0%
=18 |[EARTH 99 70 70.7% 27 27.3% 1 26 2 2.0%
21|18 | KF0H 179 91|  50.8% 61]  34.1% 11 50 27 15.1%
1|8 |[F2ETH 46 38| 82.6% 8]  17.4% 1 7 0 0.0%
I8 L™ 79 50|  63.3% 28]  35.4% 0 28 1 1.3%
2= 1|2 |EER 112 86 76.8% 14]  12.5% 1 13 12 10.7%
IR (BT 8 4] 50.0% 2] 25.0% 1 1 2] 25.0%
2= 1|2 |#EEaT 28 26]  92.9% 1 3.6% 1 0 1 3.6%
2SI 2 | = AR LT 10 7] 70.0% 1 10.0% 0 1 2] 20.0%
2= 1|2 S EEEREE) I BT 13 10]  76.9% 3] 23.1% 0 3 0 0.0%
2= 1|12 | AR AR ET 8 6] 75.0% 1 12.5% 0 1 1 12.5%
21|18 | AR — = HT 7 5]  71.4% 1 14.3% 1 0 1 14.3%
2 IR | B4R E BB ch HET 6 5[ 83.3% 1 16.7% 0 1 0 0.0%
2= 1|2 | E4A-EBR A BT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
2 IR |/ 47 L BB FH T 3 3[ 100.0% 0 0.0% 0 0 0 0.0%
2= 1|2 | E4A-E BRI JL BT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
2 )12 | 4%t BB BA R AT 3 3[ 100.0% 0 0.0% 0 0 0 0.0%
2= 1|2 | 4R T BRFa 4R BT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
2 IR | EHR T AR E R HT 2 1 50.0% 1 50.0% 0 1 0 0.0%
(2= 1|2 | 4R T B i 0 SR BT 9 8] 839% 0 0.0% 0 0 1 11.1%
HZE IR |ZEREE)IHT 16 13  81.3% 2] 12.5% 1 1 1 6.3%
AR |2 EGE)IH 0

it 4,234 2,805 66.2% 993 23.5% 100[ 893 436 10.3%




337 === =L A o
ZIEEENRAERZO—F YT (Er2269830A5%E)

EERFR | XETA HEERE b‘ﬁgb = EEBHY |ZE |225E |235E | (HEEL |ZE
WHE  [FRFh 3 3] 100.0% 0 0.0% 0 0 0 0.0%
e [E+FHHET 0
METEE T 0
MECENES 2 2| 100.0% 0 0.0% 0 0 0 0.0%
wHE [KAM 0 0
METCENETET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
METE e 3 3] 100.0% 0 0.0% 0 0 0 0.0%
IET - E[# T 1 0 0.0% 1] 100.0% 0 1 0 0.0%
EE  [HEHR 1 1] 100.0% 0 0.0% 0 0 0 0.0%
METCEET & 1 1] 100.0% 0 0.0% 0 0 0 0.0%
MEEE N 0
m*”t.- B i iy 0
METCEEE Y 0
lJ.l*”L.- 78/ \ BRI = SERET 0
WEE [FEEERE)IIET 0
IJJ*”L.- B EEER 5 ST 0
WRE (B EEE AR 0
m*”t.- BEEEE LI 0
WRIE (B EERRRFNET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
m*”t.- EAAR R AR B AT 0
MET-E rﬁ%ﬂ“”?ﬂﬁ&ﬂﬂ 0
m*”t.- EAAR R AR 0
IETS rﬁ%rS“"EBlJ.IEP Rl 2 1 50.0% 1 50.0% 1 0 0 0.0%
m*”t.- EA AR RIS IR 44 0
RIS [FI#REE AR £ ol O T 0
m*”t.- L& BB/ NE 0
WHE (AR LA 0

it 15 13| 86.7% 2 13.3% 1 1 0 0.0%




RIEEE

i‘j‘%/

R O—K < YT (Fr2249 A30BHE)

EERFR |HXETH i L bﬁs«ﬂ» = FEbHY (S [22%5E [235E | |FEEL |FES
FRE [(FemitX 8 8| 100.0% 0 0.0% 0 0 0 0.0%
BE |[FamaX 55 54]  98.2% 1 1.8% 0 1 0 0.0%
it FBhRRR 228 210  92.1% 5 2.2% 2 3 13 5.7%
HEHIRAX 21 21| 100.0% 0 0.0% 0 0 0 0.0%
FETIMER 12 11 91.7% 1 8.3% 1 0 0 0.0%
ETHEX 6 5|  83.3% 1 16.7% 0 1 0 0.0%
FBhAmEX 51 48]  94.1% 1 2.0% 0 1 2 3.9%
BT EX 7 7| 100.0% 0 0.0% 0 0 0 0.0%
R 103 95  92.2% 7 6.8% 5 2 1 1.0%
=&m 34 32  94.1% 2 5.9% 1 1 0 0.0%
FEIS T 53 53| 100.0% 0 0.0% 0 0 0 0.0%
EAT 54 46  85.2% 6] 11.1% 5 1 2 3.7%
INFARTH 18 14 77.8% 3]  16.7% 0 3 1 5.6%
g 5 5] 100.0% 0 0.0% 0 0 0 0.0%
+HETH 61 59|  96.7% 1 1.6% 1 0 1 1.6%
ﬁﬁﬁg 17 16]  94.1% 1 5.9% 0 1 0 0.0%
fE 7 7] 100.0% 0 0.0% 0 0 0 0.0%
p T 10 10[ 100.0% 0 0.0% 0 0 0 0.0%
= ﬁ\@_‘ulfﬁ 5 4] 80.0% 1 20.0% 1 0 0 0.0%
BNeht 0
ART 6 6] 100.0% 0 0.0% 0 0 0 0.0%
L 21 19]  90.5% 1 4.8% 1 0 1 4.8%
ﬂﬁl’ﬁifﬁi 7 7] 100.0% 0 0.0% 0 0 0 0.0%
&E il 7 6] 85.7% 0 0.0% 0 0 1 14.3%
;8 7 7] 100.0% 0 0.0% 0 0 0 0.0%
E\; %EFH 17 15]  88.2% 1 5.9% 1 0 1 5.9%
& 3 2|  66.7% 1] 33.3% 1 0 0 0.0%
%Eggﬁfg 3 3| 100.0% 0 0.0% 0 0 0 0.0%
bl IVEXS 0
EavER AR T 0
%glﬁgﬁﬂﬁl’ﬁﬂﬂ 4 4] 100.0% 0 0.0% 0 0 0 0.0%
= BEBE EUGHT 0
B AE AR SR ET 9 7] 77.8% 1 11.1% 0 1 1 11.1%
; A B ER R 5 4]  80.0% 1 20.0% 1 0 0 0.0%
%ﬁn‘%Lr PUBRETPUBRES 0
HRE | ERAERRIIH 0
FiRE | S ARE BT 0
&t 844 785 93.0% 35 41% 20 15 24 2.8%




ZEEENERERRO—FY YT (EH2249 8308 8%E)

TR | ETA 8 TN |4 5 %
il i i L (%M = HEHY |Z/5 (225 (3% | |FHELL |ZE
E5R =& 88 84| 955% 4 4.5% 4 0 0 0.0%
T 22 22| 100.0% 0 0.0% 0 0 0 0.0%
EHE LLom g 4 100.0:41 0 0.0% 0 0 0 0.0%
EHE  [thAm 16 : ‘;‘%i ooy 1 5 A
E%’: Hégﬁff 6 5% 10| 62.5% 2 8 0 0.0%
EEI: ;]; %;; 11 11| 100.0% 0 0.0% 0 0 0 0.0%
L @%Kﬁ 3 2] 66.7% 1] 33.3% 0 1 0 0.0%
EHE A ; 1| 100.0% 0 0.0% 0 0 0 0.0%
s s 2] 66.7% 1] 33.3% 0 1 0 0.0%
EHE o g 5|  83.3% 1 16.7% 0 1 0 0.0%
EHE  [grlh 1 :1, :gg'g:f A : : o
E;TLZ- 1*%;;7’33 1 0% 0 0.0% 0 0 0 0.0%
EQIL% 12 ;;; 2 2| 100.0% 0 0.0% 0 0 0 0.0%
B8R 2% 1g g 80.0:& 2| 20.0% 0 2 0 0.0%
E;TE E@;iﬁi 6 83.3% 1 16.7% 1 0 0 0.0%
78 |REFH % 0
T % ¢ - (1) 1| 100.0% 0 0.0% 0 0 0 0.0%
EHE |EEARIEH 0
E%:'L% E ik A ZB R A 0
EEZE EEA B REAN 0
HEE e
34 i BT 1 % Y
e EAREART 1 1| _100.0% 0 0.0% 0 0 0 0.0%
LT wmET o v 7
PR [dE I ELET 1 ’
E5R tezgin 1 0 0.0% 1] 100.0% 1 0 0 0.0%
T 3
78 [EREAER T RELET 0 0
il e an g 3] 100.0% 0 0.0% 0 0 0 0.0%
EEZF[ mEL AR IR AL 0
ﬁizb‘?: 73088 i Er BT 0
T wmRE i) 3
T HT 3 0 ’
E;TE igggﬁgﬁ — 2 0.0% 3| 100.0% 0 3 0 0.0%
7R CIIIES 3 0 0.0% 3| 100.0% 0 0
E?”; #gggﬁa\ H# 1 1] 100.0% 0 0.0% 0 (3) g 8'3;
EEZ'E\ L BEJII T 3 1| 33.3% 2| 66.7% 0 2 0 0_00/,,
EQZE FE RS 7T 1 1 100.0% o oo% 0 0 o
8 [T AR R Al 0 S
EHE | TEBAFAIEH 0
EHFE | TEIBHBELH 0
EHE | TEIBEERH 0
EHE | THEBETIEH 0
EE]?L‘% TEBEFTAH 0
s :
72 REREH 3 [ 9
E?E ;gggfﬂé* ] 3 2| 66.7% 1] 33.3% 0 1 0 0.0%
7R BEHEH 1 Y 9
E%:'L% BRI T 1 0 0.0% 1] 100.0% 0 1 0 0.0%
EHE | KREEREHAT 0
EHE | ASEEASH 0
E%jb% A S EAEH 0
EEZL‘?: AEEEEH 0
EHE | ASBAREH 0
EHE | ASEHASH 0
EHE |HARERHFEH 0
EHE |FRENERH 0
EE]?L‘% HAER LA 0
Eizk‘?: HIREEE A 0
EE]:L‘% RAERFILH 0
Ei}:& b &= 2R jth FH AT 0
=) 7\ n
Eéiﬁ; ;z%gggg ] : g 0.0:/0 1] 100.0% 1 0 0 0.0%
E?’E ;ﬁ%g}g@ ] 1 0.0% 1] 100.0% 0 1 0 0.0%
72 B HT 1 °
T e 1 1| 100.0% 0 0.0% 0 0 0 0.0%
2.0 Wy B T 3
Tl = It JAHET 3 ° Y
EE]:»L% T inraTh E 3| 100.0% 0 0.0% 0 0 0 0.0%
E?’E F%?W-gg%%fﬂiﬂ;‘iﬁ 0
718 | EK BRIl 1 Y
e LE L 1 1| 100.0% 0 0.0% 0 0 0 0.0%
E%ZL% 7K P9 BB B A ET 0
EHE [FKAEBEHR 0
Hi 207 173| 83.6% 34|  16.4% 10 24 0 0.0%

20




ZEEENERERRO—FY YT (EH2249 8308 8%E)

HEFFE |THXETH i L Z,;%g" = FEbHY (S [225E [235E | |FHEEL |FE
EWE |Elh 295 272]  92.2% 22 7.5% 14 8 1 0.3%
EWLE |SHEm 48 32  66.7% 15[ 31.3% 13 2 1 2.1%
EWLE |f&Eh 19 10|  52.6% 8]  42.1% 7 1 1 5.3%
EWE kR 6 4] 66.7% 2] 33.3% 2 0 0 0.0%
EWE [BIH 9 7| 77.8% 2] 22.2% 2 0 0 0.0%
EWLE |ZE&Hh 12 1] 91.7% 0 0.0% 0 0 1 8.3%
EWLE  |BET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
EWLE |/hEEH 11 7|  63.6% 4] 36.4% 4 0 0 0.0%
EWLE |FEHh 7 6] 857% 1 14.3% 1 0 0 0.0%
EWE  |gikh - 14 8| 57.1% 6]  42.9% 6 0 0 0.0%
EWE |3 AEH 0
EWE  [pFr)IERE AT 5 5] 100.0% 0 0.0% 0 0 0 0.0%
EWE o) AR ILET 5 3]  60.0% 2] 40.0% 2 0 0.0%
EWE [ FEIIEAZH 0
=R [F#)IIEFERAET 1 0 0.0% 1] 100.0% 0 1 0 0.0%
it 435 368 84.6% 63| 14.5% 51 12 4 0.9%

21




ZEEENERERRO—FY YT (EH2249 8308 8%E)

EERFR |HXETH i L Z,;:%g" = EbHY S |225E 235 | |FHEAEL
BIE |#RH 559 555]  99.3% 4 0.7% 4 0 0
BINE |EtEm 46 31| 67.4% 5|  10.9% 4 1 10
BINE /i 53 38  71.7% 6] 11.3% 3 3 9
BIE |&HEST 11 8]  72.7% 2| 18.2% 1 1 1
BINE  [BENT 2 2| 100.0% 0 0.0% 0 0 0
BIE |mET 9 6]  66.7% 0 0.0% 0 0 3
RINE  |F¥h 0
FINE  [hIEFETH 10 9]  90.0% 1 10.0% 1 0 0
AINE |8l 17 15|  88.2% 2] 11.8% 1 1 0
BIE  |&EET 19 14]  73.7% 5]  26.3% 2 3 0
BINE s ERIdLET 1 0 0.0% 1] 100.0% 0 1 0
BIE  |R)IEEFLHAT 25 25] 100.0% 0 0.0% 0 0 0
BNIE ATk AR R AT 6 6] 100.0% 0 0.0% 0 0 0
BIE AL ER AT 4 4|  100.0% 0 0.0% 0 0 0
BIE  HERREE BT 14 2|  14.3% 12|  85.7% 12 0 0
BIE PR =EE KA 3 3| 100.0% 0 0.0% 0 0 0
BIE |EEERREEHT 2 2| 100.0% 0 0.0% 0 0 0
BIE  |BEEER7KET 1 1] 100.0% 0 0.0% 0 0 0
BNE | BEE§EE 0

it 782 721 92.2% 38 4.9% 28 10 23

22



ZEEENERERRO—FY YT (EH2249 8308 8%E)

EERFR |HXETH i L Z,;%g" = FEbHY (S [225E [235E | |FHEEL |FE

BHE |EHT 180 138]  76.7% 38  21.1% 22 16 4 2.2%

BHE |[HETW 10 9] 90.0% 1 10.0% 1 0 0 0.0%

EHE [NEH 2 0 0.0% 2] 100.0% 1 1 0 0.0%

BHE | XM 20 14|  70.0% 4] 20.0% 4 0 2] 10.0%

BHE |Blh 3 3] 100.0% 0 0.0% 0 0 0 0.0%

EHE [FIm 14 8] 57.1% 4] 28.6% 3 1 2] 14.3%

BHE |Hbomh 13 12]  92.3% 1 7.7% 1 0 0 0.0%

BHE |#amH 20 18]  90.0% 2] 10.0% 1 1 0 0.0%

EHE [FHFM 30 22|  73.3% 8]  26.7% 3 5 0 0.0%

EHE |[FHEEKFEFH 2 2| 100.0% 0 0.0% 0 0 0 0.0%

= 4 |8 237 B 3

Hrwmrioin ;

BHE P4 EREAATET 3 2]  66.7% 1] 33.3% 0 1 0 0.0%

EHE [=FHEEEM 0

EHE | KERENS KT 0

BHE | KERESHLET 0

BHE [=FH EhEiF kAT 3 3| 100.0% 0 0.0% 0 0 0 0.0%
&t 300 231 77.0% 61 20.3% 36 25 8 2.7%

23




ZEEENERERRO—FY YT (EH2249 8308 8%E)

AR | RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62
Tl T 254 187 73.6% 43]  16.9% 30 13 24]  9.4%
:ﬂizg Pjﬁ 66 37|  56.1% 23| 34.8% 11 12 6 9.1%

= ST .99 Y
CLTWE S i Y Y - oo
IREE  [HEHm 12 ] 91.7% i 83% i 0 o] 0.0%
IRBE  |giE)dH 5 5] 100.0% 0 0.0% 0 0 0 0.0%
- SMEY -1 4 4] 100.0% 0 0.0% 0 0 0 0.0%
IFRE  |EREh 1 1] 100.0% 0 0.0% 0 0 0 0.0%
IFER  PE! 17 11 64.7% 4] 23.5% 3 1 2 11.8%
BEE [ 3 2] 66.7% 1| 333% i 0 o ook
CEI-SEF - 13 12| 92.3% 1 7.7% 1 0 0 0.0%
- ET T 6 4] 66.7% 2| 33.3% 1 1 0 0.0%
B8 |RERT 80 62|  77.5% 9]  11.3% 7 2 o  11.3%
gzg ELL::ﬁ 4 2| 50.0% 2| 50.0% 2 0 0 0.0%

s il 0
IFBE  |EiEh 14 7] 50.0% 5]  357% 5 0 2] 14.3%
IFBE | REEH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
BEE [A&h 6 5[ 83.3% o o0% 0 0 1674
IEEE  [#.Em 1 1] 100.0% o] 0.0% 0 0 o o0%
gzg E 2 it g 2| 100.0% 0 0.0% 0 0 0 0.0%

B [&ZW 0 0.0% 7] 87.5% 6 7
CE- B Gt 8 3 3754 5[ 625% 3 ; (1) 1(2)'3;
IEEE & a0 AR 3 2] 66.7% 1 333% 0 1 o 0.0
IREE |EEZEEEME 7 7] 100.0% 0 0.0% 0 0 0 0.0%
CEC M EST T E T 4 3|  75.0% 1 25.0% 1 0 0 0.0%
IFEE | REERR 4~ R AT 2 2| 100.0% 0 0.0% 0 0 0 0.0%
I IR |7 )\ BB F T 4 2]  50.0% 2] 50.0% 2 0 0 0.0%
IR EE %/ \ER#R 2 NET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
IR %) \ER%/\HT 5 3]  60.0% 2] 40.0% 0 2 0 0.0%
IFER  [{EFEERIEZE) AT 5 4]  80.0% 1 20.0% 1 0 0 0.0%
IREE  |$E3EERKERAT 3 3] 100.0% 0 0.0% 0 0 0 0.0%
I E IR 453 A0 ith R T 6 6 100.0% 0] 0.0% 0 0 o[ 00%
CEICEE Y E#ai) 4 3| 75.0% 0 0.0% 0 0 1] 25.0%
IREE |05 R R BT T 1 1] 100.0% 0 0.0% 0 0 0 0.0%
I B2 | AR E ANET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
IREE | NSRRI 0 ET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
I B R | AR RET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
CEIC NG YN 300 0
IFEE (R e )T 0
IR [ANEERE A4 0
IF 28 |a] R ERE E AT 0
FEE | XHESIH 0

&t 597 428 71.7% 120(  20.1% 83 37 49 8.2%

24




7 === = > . O T ek

ZIEEERERFERZO—FY YT (22498308 H%E)
AR |FRATH miE | (TSR (o2 | [HEsy |22 |nem nex| dEsl |82
BEE |BEmEX 105 82| 78.1% 13| 12.4% 13

o 1|

BEE |BEhETX 75 63]  84.0% 4 5.3%
B2 2 HEKR 52 41 78.8% 5 9.6%

|
=l

i [
=]

Fael hh X 288 209  72.6% 79]  27.4%
BRE 2 HEX 55 43|  78.2% 11| 20.0%

b
/|

EHi 2 i X 24 16]  66.7% 8]  33.3%
BRE 2 HE X 49 38]  77.6% 10[  20.4%

)
L

b
/|

EHi 2 hdb X 20 18]  65.0% 7] 35.0%
B2 2 EFRR 25 14| 56.0% 11 44.0%

b
/|

EHiE 2 hREX 8 3| 37.5% 62.5%

B
B
L B R P A

FEd ol 31 23] 74.2% 6.5%

Fanal 10  76.9% 15.4%

o | e e 1 T T e T e T e T T e T

=1 = e
iy
w

FEd Al 7 7] 100.0% 0.0%

(=] (=] G (=) Gt £=2d B =) B Sl I A S A (=)
(=1 (=] =t N1 B L PN B B = D N S
—_
—|O|=|»|O|o|Oo|—=|O|=|O|x|®|O
g
o
=

O|OIN N o

Fanal m 32 31  96.9% 0.0%

B IR

30 23 76.7% 6.7%

0 < o 11 [P
HEMﬁM%‘
TH]

T =T =T

19 17 89.5% 0.0%

BRE  |2EMHT 44| 71.0%

—_

19.4%

BREE  |BEiET 18 15|  83.3% 5.6%

BEE  [#MIT 33 16]  48.5% 48.5%

T\EGT ST ST =T =T =T
(=]
N

BRfE | BEERT 4 4] 100.0% 0.0%

BEE |#EESh 9 4] 44.4% 55.6%

—_
Hlojo|D|=|N[O|N
—_
WO O|W|—= |0 |O|—
—|o|o|w|o|s~|o|—=
N|O|O|=|N|o N |G
©
o
53

BEE | NHT 23 17 73.9% 17.4%

BEE | THT

BohE R [9EEF

14.3%

TI=T =T =TT

ERRE |7 28 24| 85.7%

=
—_
—

0.0%

BEE [P 100.0%

BEE  |fEaiEh 4 4] 100.0% 0.0%

BEE  |FE)W 18 10  55.6% 44.4%

BEE |[FSOET 1 1] 100.0% 0.0%

o (=] A (=1 [=2E 0
N|O|w|o|o]|w
wlojo|lo|o|—=
[=l=l{=1{=](=)[=]

—_

BEE |%elRm 17 6] 353% 64.7%

BRfE R [ R AR T

BRR B R ARALEET

BRfE R [B AR R T

BaE IR | B R ARG ET 100.0% 0.0% 0.0%

BEE |EreEFEF T 100.0% 0.0% 0.0%

B2 R |FHJ5 AR AT 100.0% 0.0% 0.0%

RS |EAERERSKET 100.0% 0.0% 0.0%

FaE R |BAERERR RET 0.0% 0.0% 100.0%

BREE  |EATRER/NMLET 100.0% 0.0% 0.0%

BaE R |#R[R AR HET 100.0% 0.0% 0.0%

B3RS B[R AR IR ASET 100.0% 0.0% 0.0%

©O|=|B|=[N|=|=|N|w|o|o|O

w|=|a|=[o]|=]|=]n]w
o|o|o|olo|olololo
v |o|o|ofo|o|olo|o
—|o|olo|o|olo|o]o
ololo|olm|ololole

0.0%
5.0%

FREE | FEEE 33.3% 66.7%
it 1,075 795 74.0% 226 21.0%

(o]
~

139

a
>

25



ZEEE N REEHRO—F < YT (ER22469A3085H7%)

AR AR wam | (DS (o2 | [wEsy |12 |nem nex| sEsL |62
ZHE |[ZEEMTERX 219 160]  73.1% 42]  19.2% 31 11 17 7.8%
BHE |ZEEMERRX 145 134]  92.4% 7 4.8% 3 4 4 2.8%
ZHE |[FEEMIEX 219 183] 83.6% 33  15.1% 15 18 3 1.4%
BHE |ZEEMARX 230 178]  77.4% 47 20.4% 22 25 5 2.2%
ZHE |[ZEEMHFX 188 134  71.3% 41 21.8% 21 20 13 6.9%
BHE |ZEEMHR 213 179]  84.0% 30  14.1% 12 18 4 1.9%
ZHE |ZEEMRANX 141 102]  72.3% 32  22.7% 17 15 7 5.0%
BHE |ZEEMEER 158 124]  78.5% 22]  13.9% 16 6 12 7.6%
ZHE |[ZEEMHEK 149 124]  83.2% 25  16.8% 15 10 0 0.0%
BHME |FEERHIR 286 182]  63.6% 85]  29.7% 64 21 19 6.6%
ZHE |[ZEEMEKX 203 135] 66.5% 52  25.6% 34 18 16 7.9%
BHME |ZBEMREX 205 155  75.6% 50]  24.4% 26 24 0 0.0%
ZHE |[FEEWSFILX 169 125]  74.0% 33  19.5% 14 19 11 6.5%
BHE |ZHEMHEX 124 85| 68.5% 22]  17.7% 21 1 17 13.7%
ZHE |[ZEEMARK 136 113  83.1% 22  16.2% 5 17 1 0.7%
ZHE |[2HEHXER 151 136] 90.1% 14 9.3% 9 5 1 0.7%
EBHME |28H 196 147]  75.0% 19 9.7% 19 0 30] 15.3%
ZHE |F&H 166 124]  74.7% 28] 16.9% 28 0 14 8.4%
FHE |—Emh 174 114]  65.5% 42| 24.1% 19 23 18 10.3%
EHE |HF™ 49 42]  85.7% 4 8.2% 2 2 3 6.1%
ZHE |FHET 20 19]  95.0% 0 0.0% 0 0 1 5.0%
ZHME |HEBHHH 105 90[ 85.7% 10 9.5% 3 7 5 4.8%
ZHME |2)H 52 46 88.5% 4 7.7% 1 3 2 3.8%
BHME |EBEmH 19 14]  73.7% 3] 15.8% 3 0 2| 105%
BHE [EEH 8 6] 75.0% 2] 25.0% 2 0 0 0.0%
BHME |NAH 47 38| 80.9% 7] 14.9% 7 0 2 4.3%
EHME |E2HH 63 49  77.8% 9  14.3% 8 1 5 7.9%
BHE |RET 44 31 70.5% 11 25.0% 6 5 2 4.5%
ZHE |AEEN 34 21|  61.8% 1] 32.4% 9 2 2 5.9%
BHE |HEh 44 38 86.4% 1 2.3% 1 0 5  11.4%
FHME | RiUH 32 23]  71.9% 5[  15.6% 5 0 4] 12.5%
BHE |EBEh 11 8] 72.7% 2] 18.2% 1 1 1 9.1%
ZHE [IFmh 56 43|  76.8% 8]  14.3% 8 0 5 8.9%
BHE |/M&h 84 60[ 71.4% 13|  15.5% 13 0 11 13.1%
EHME RS 48 31 64.6% 8]  16.7% 4 4 9] 18.8%
ZHE |FEH 2 2] 100.0% 0 0.0% 0 0 0 0.0%
EHME |RiEH 43 30| 69.8% 4 9.3% 4 0 9]  20.9%
ZHE | XiEH 31 18] 58.1% 8| 258% 7 1 5  16.1%
BHE |HMZH 12 6] 50.0% 2] 16.7% 2 0 4] 33.3%
BHME |HH 43 39|  90.7% 2 4.7% 0 2 2 4.7%
ZHE |EsRiBTH 31 20|  64.5% 10[  32.3% 2 8 1 3.2%
BHE |SET 10 4]  40.0% 6]  60.0% 6 0 0 0.0%
EHME |HEH 34 16]  47.1% 11 32.4% 9 2 ji 20.6%
ZHME |Z28RAH 7 6] 85.7% 1 14.3% 1 0 0 0.0%
EHE |HEH 12 5|  41.7% 4] 33.3% 2 2 3] 25.0%
ZHE |HAEST 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EBHE |EHET 5 2| 40.0% 2] 40.0% 1 1 1] 20.0%
2HME |BEH 39 35 89.7% 2 5.1% 1 1 2 5.1%
ZHE |kEGEH 40 33| 82.5% 6] 15.0% 6 0 1 2.5%
BHE |#HEMH 17 16]  94.1% 1 5.9% 1 0 0 0.0%
ZHE |H&LTH 8 6] 75.0% 2] 25.0% 2 0 0 0.0%
ZHE |HFEhH 21 17]  81.0% 3] 14.3% 2 1 1 4.8%
ZHE | ZEEIEEET 14 14] 100.0% 0 0.0% 0 0 0 0.0%
BHNE |BMEAREAFHE 29 19]  65.5% 7] 24.1% 6 1 3] 10.3%
ZHE |FmEBHEILET 6 4]  66.7% 0 0.0% 0 0 2] 333%
EZHE | PHEHEAOHRE 18 13| 72.2% 0 0.0% 0 0 5  27.8%
EME | FPPRAMKRET 12 5  41.7% 5  41.7% 5 0 2] 16.7%
EHE |iEEREAAE 5 4] 80.0% 0 0.0% 0 0 1 20.0%
EZME |EERALESITHT 7 4] 57.1% 2] 28.6% 2 0 1 14.3%
EHNE |EEHEARSH 0
ZHE M2 EBMALLET 2 2[ 100.0% 0 0.0% 0 0 0 0.0%
BHE |HZEEEAT 10 4]  40.0% 5]  50.0% 1 4 1 10.0%
ZHE |HZEABEIZHE 3 1 33.3% 2] 66.7% 1 1 0 0.0%
BHE |HMZEEER 6 6] 100.0% 0 0.0% 0 0 0 0.0%
ZHE |HMZABREH 4 4] 100.0% 0 0.0% 0 0 0 0.0%
BHE |BSE—EH 0
ZHE |[BERSEM 0
BHE BT EMES 0
EZHE |Z5ME=HET 7 4]  57.1% 0 0.0% 0 0 3] 42.9%
BHE IR AR AT 0
L EE A T S 0
ENEINEEEI T 0

H 4,668 3534 75.7% 829 17.8% 525 304 305 6.5%

26




ZEEENERERRO—FY YT (EH2249 8308 8%E)

ERERFIR X ETH i L Z,;:%g S ET HEHY |5 |225E (235 | |FEEL |ZE
=58 |ZFm 109 91 83.5% 17 15.6% 9 8 1 0.9%
=58 Bh 15 12| 80.0% 1 6.7% 1 0 2] 13.3%
=EE |##Hm 29 26]  89.7% 2 6.9% 0 2 1 3.4%
=88 |Wkd 35 26]  74.3% 9]  25.7% 7 2 0 0.0%
=88 |&%&h 39 32 82.1% 7] 17.9% 5 2 o] 0.0%
=E8 |#hEETh 116 103]  88.8% 8 6.9% 3 5 5 4.3%
=8B |&iEH 7 7| 100.0% 0 0.0% 0 0 0 0.0%
Z8E |EEBm 1 1] 100.0% 0 0.0% 0 0 0 0.0%
S8R [Rlm 7 7] 100.0% o] 0.0% 0 0 o] 0.0%
;;E ,E%ég?]ﬁ 3 3| 100.0% 0 0.0% 0 0 0 0.0%
=E8 |E%Hm 0
ZEE LR 1 1] 100.0% 0 0.0% 0 0 0 0.0%
=88R |EEW 3 3| 100.0% 0 0.0% 0 0 0 0.0%
E;LZ- E%gxém 30 25]  83.3% 5|  16.7% 5 0 0 0.0%
i CENIEErS O :
ZEE |ZERAEMm 1 0 0.0% 1] 100.0% 1 0 0 0.0%
ZEE [ZEHEAM 1 1] 100.0% 0 0.0% 0 0 0 0.0%
=ZEE |=ZEEIE 1 1] 100.0% 0 0.0% 0 0 0 0.0%
—EE |[ZRBESH 0 '
=58 |ZXEERF0AT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
=BE |ZSEAAM 0
=58 |ESEEET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
=58 |ELBEL 0
=58 |ESEALH 0
=85 |ESEmEFSE 2 2| 100.0% 0 0.0% 0 0 0 0.0%
=28 [dEEZER4cIE 0
=EE |EREEEHE 0
=58 |EEENKLTEH 3 3| 100.0% 0 0.0% 0 0 0 0.0%
it 405 346 85.4% 50( 12.3% 31 19 9 2.2%

27




"—_‘2' —N
%ﬁ@r Fﬁx‘[ EREEX R AREREO—F< YT (EH
- x ] —‘Q.
: me % 4= 224 9A30HR%E)
: = E il bﬁﬂ =) SEHY |FE 26 E 5
E’ﬁ REE E*ﬁrﬁ 3;? 265 76.4% 45| 130 ol it Ul L
12 n/ /4\ i 79 . % 2
R 91 1 ggg:ﬁ 0] 11.0% (3) 23 T
fgm s 23 20| 87.0% I i : oI e
i Tin 153 18] 77.1% T 1 g D"
gﬁig - 53 ] AR 7 a6% 4 3 T
, ﬁ’é 5 68 50| 86.8% e ; : oo
Pl %mﬁ 53 45| 8494 T 5 1 i
S 53 s 4 715% 0 4 R
g&ikg i 10 X T o o004 0 0 R
%ig 5 30 ] B o 30.0% 8 i T
B ’%L—g A AR H EFET ° - i 6 oo 3 : 2 =
HEE  [EEEETET : : 60'00/“ I 1o 0 1 6 =
:% TN ERE AT i - : - : : : =
= e ik 0] 90.9% a—
,ﬁa;n R L2 B AT ; | R 0 0
; X EARZ EHT ; 55 0 o0 0 0 1 :
E 1 81000 o] 0.0% 0 0 o0
., — = 0% o _oo0% 0 0 on
79.8% 95| 934 43 oo,
52 12|  109%

28




EEEO—K< v (Efk2249H8300%H%E)

BIERE R LR

AT (AT 1 FTE
g T | g _
AN A - e #E | (HESY |#5  |2fE 205K | [HEGL |55
HEAT  |mERT ERX 228 04 467% 4 2.9% 2 2
TEBAT [ FER T AR X o 124] 54.4% 101]  44.3% a7 69| 50.4%
AT | PR X B 92| 47.4% 8] 4.1% 7} . 3] 13%
DA [ R LK e 137]  45.7% 158]  52.7% T 94| 48.5%
SR |mah FAK 24 52| 4954 e 5 1.7%
TR | FRERT R X = 122] 54.5% 67]  29.9% 3 o1 46] 438%
A | RAhARK 254 70 46.1% e 35 156%
RERN |RESmRRER 5 110 29.1% 7 31% 5 2 78] 51.3%
RER [EbmILEIK 118 146 52.3% 7 6] 8 9 L 47.8%
AT [mEbmAaRR L 50 42.4% 7| 5.9% 1 5 116]  41.6%
ST (Al n 50 450% ol 814 5 gl SL7%
mEAT  [EET 2 17| 77.3% 2 o1% : 52| 46.8%
e T 1 22 71.0% o 3| 1364
RER AT 172 7| 87.5% 0 0.0% 0 8 7| 22.6%
AR |EEh 1 87| 497% 21 12.0% 5 11 125
REA |RET iz 10] 833% 2o 1 67| s83%
2B WG % 16|  533% T mm 1 83%
SEAF |[mEm 2 17] 48.6% 7 IR ! 13 4334
RER | RER 45 18] 40.0% 2] 26.7% 6 2 14| 40.0%
SEF_|/\lEm 70 35]  50.0% 6] 8.0% 1 6 16| 33.3%
% T 20 10| 50.0% 7 IO | 20| 414%
ST |maEm 21 5a0% IO N 8] _300%
ST [Empbm 4 2| 50.0% e 17]_34.0%
SR [ARIT 2 2] 66.7% A —a— o 00%
REM |2 AERA LG 21 16| 76.2% o _oo% 0 5 11 333
SREBAE | A ERAELIET — 12]  66.7% 2] 111% 2] 0 5| 208%
REM |BEAFTE 15] 57.7% o 0.0% 0 4]  22.2%
R [mERTARRE 1 1] 1000% T B 1] 423%
S [BEMEE 3 ' ° o oo
XL 3 L s 6] 100.0% o ol o[ o
e AEE Si0 E Lo 70 0] 00k
Gt A E ST 25 0 3 500 T foos] o 1
[SERAT (B3 AR5 FLRET 1 4 400%
SED |5 B RET 5 0] 00 1 10006 o 1
SEF |5 A SR i 1| 1000 o —
HEE] =
&t 2,661 1,343 505% 452 i (7)(1w 2 0 0l 00k
% 68] 386 864  32.5%

29




RIEEE xR

LEEfRER A —R <y T (Efk2249 B30 A1)

BRI R AT : Wg" 2 ||z
et Ll ﬁﬂﬁgz b 215 : BEHY |25 25 E | 235K | (5HEREL (25
T T d T N Bl e I | T s
KR | KRt X 71 27 6624 Tl vt : = it
KBRAF | ABRAaR 123 81l 545h - E E o
KRFF_ | ABRiEX 46 320 69.6% i i R
KERAF | KB AEKR 56 20 5i8% Tt i : S
XRFF | KRTAEZX 151 85 563% i 1 : A
KRR | KERiGEERX 81 39 48l1‘; " 43.7"& 1 - i o
KRR | KRiif e X 100 620 620% 30 So00 ; : e
ARFF_ | AR R RIIX 162 85| 5254 s i T
KIRFF__|ABR X 132 880 66.7% s 1 - T
KA | KR EHX 160 a7 2045 o 113 oo
KRFF__ | ABRABX 90 53] 55.0% T 5 T
KIRAE | KRR X 127 88 6934 AT % o7
RERFF | KBRS B X 119 770 64 7% e 1 : oo
KIRAE | KRAES X 217 72l 7934 T L Ao
KIRAF | AR RS X 173 80| 402% 7o 5 B o
KERAT | KBRifa X 97 53] 5464 T 1 % AT
KA | KBRiie)I|X 263 165 62.7% T oo : : T
KERAT | KBRi#E R X 80 81l 7634 e s R
KIRFF_ | KBRiE 2 LK 77 3] 5006% e : ; S oo
KIRAE | KR EHX 177 106 59.9% 0 iso 1 7 T
KA | KB 173 136]  75.6% T T o
KIRFF [ ABR R X 228 141l 6184 LI T4 oo
BN L 165 1150 65.7% e 4 T
(KB [Am X 62 38| 6134 YT T o
xbg amex 62 ] MK 21045 2 10 2] 19.4%
BN L 88 511 648k o oo ; : o on
NS TS 35 17 48.6% =L 29.5?} : “ : S
BN LA 60 23717 o is0n ¥ ; o
KRAE_|AhERK 16 12| 75.0% T ; : T
KBRAF_|Eermm 51 31l 7254 S ; 7 S
XRFF__|=hh 475 238]  50.1% R ; : T
XRAT__ @ 105 89 6574 T : % >0
XRAE__|®REH 181 116] _ 64.1% A : : BT
AT [RET_ 81 1 TR 32 177% 16| 16 33 18.0%
PN AMEES &0 1 o] 51.7% 5| 14 6] 26.7%
KREF_|E&Em 80 3 4634 o0 ; 2 L
ABfT 8B 80 3153 6] 200% 2 14 27]_338%
KBRAF_ |#AH 172 120 69.8% ST I T
XRFF__|&AT 244 150]  61.5% A s i 75
KRG [/\Eh 207 124 59.9% o 0 2 T ot
Air [T 07 24 i 2] MY T Y 4] 237%
XA |=mikm 105 86 629 ST : : Sl 150
(KBRAE_ [BRE)im 254 165]  65.0% R T IR
EXTAE /TWE§T$ 99 67 67.7‘V: = o 2 2 i T
BT ARk 99 717 13 1a.1% i 12 9] 19.2%
S NANES G 138 76 55.1% S0l iy o ; s T
XRFF__|fsh 144 86 59.7% EEE T o7 s
KRR |E@mm 100 5ol 50.0% 35 Soon : o e
XRFF__|[HET 55 24| 43.6% [ TR B N Soh
XIRFE_ [N eEm 79 38 4s.1% T T oo
PR L 18 38 o 4l st i 30 o oo%
KIRHF_ [EiEm 114 86l 5794 e ; 0 i
A [BET 114 G651 10— s o 10 38]  33.3%
XA |fErsm 65 T A o T T
KERFF_ [BABRH 489 221 45.2% I 1 5 T
X (30 89 | 101] __20.7% 2[99 167]  34.2%
KiRREE  |uigEBRE 54 29 53l7“/ X 10.3:/0 : : : o
XA |[X%h 55 a5 818 R 0 > i
KIRFE | ABOEILT 53 27| 50.9% S : : T mn
XIRFF_|BrE 32 6 500% s o0 : : o
AR |= SRS AR 25 20| __80.0% s ; > R
ﬁ{égﬁ —EHEAT 5 0% 2 804 0 2 3[ 12.0%
T [ZEERREESAET [
ESTNEER § 5 T I N T
KiRFE | R EARAE ERAT 17 18] 76.5% . 12.03& : ; n o
KRAF_ |5 Fa B E BT 1 100 0% T 5 : o0
KERAT |5 Fa 2RURET 14 1] 78.6% e 5 ; T
XIRFF B AMEA T 3 3] 100,04 1o T N s
KIRFE_|Fasal AR AT 3 3] 100.0% oo 5 5 oo
: AR - 3 0% o _o00% 0 0 o _oo%
5t 7,882 4723] 59.9% 1562] 1984 247 1315 1507 203%

30




ZEEENERERRO—FY YT (EH2249 8308 8%E)

AR | RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62
EER = R X 234 184]  78.6% 46  19.7% 5 41 4 1.7%
EER |[#WEm#X 158 110]  69.6% 44| 27.8% 7 37 4 2.5%
EER AEHEF'TJ%EIZ 113 76|  67.3% 35  31.0% 1 34 2 1.8%
EEE [MEHREERX 96 70]  72.9% 15| 15.6% 8 7 11 11.5%
EER AEHEF-‘JZEQIZ 98 65| 66.3% 14]  14.3% 10 4 19]  19.4%
EEE [MEmEKK 99 74| 74.7% 14]  14.1% 10 4 ] 111%
EER AHEF"J:H.’.IZ 67 38 56.7% 14]  20.9% 10 4 15]  22.4%
EEE [WEHHRRR 207 124]  59.9% 76]  36.7% 11 65 7 3.4%
EER HE g X 52 23]  44.2% 27 51.9% 11 16 2 3.8%
EEE |iEERdH 259 132]  51.0% 48]  18.5% 29 19 79| 30.5%
EEE |EKBH 506 350  69.2% 69  13.6% 35 34 87  17.2%
EEE AT 188 125]  66.5% 39 20.7% 15 24 24| 12.8%
RER |AEm 332 197]  59.3% 44  13.3% 15 29 91 27.4%
SER  [MAH 25 8]  32.0% 12| 48.0% 5 7 5| 20.0%
EEE |EEH 64 42|  65.6% 20  31.3% 3 17 2 3.1%
EEE |[#Rhm 142 89 62.7% 30  21.1% 8 22 23] 16.2%
EEE  |fH4&H 10 7] 70.0% 0 0.0% 0 0 3] 30.0%
EEE |ZEh 16 9]  56.3% 5| 31.3% 4 1 2] 12.5%
EEE |m&lld 68 38] 55.9% 15]  22.1% 5 10 15]  22.1%
EEE |FEH 14 7] 50.0% 3 21.4% 3 0 4] 28.6%
EEE |flGh 4 4] 100.0% 0 0.0% 0 0 0 0.0%
EEE |FEH 153 101]  66.0% 17 11.1% 7 10 35| 22.9%
EER |=KTW 18 14]  77.8% 4] 22.2% 3 1 0 0.0%
EEE |gihm 29 22]  75.9% 3] 10.3% 1 2 4] 13.8%
EER  |IFE! 72 48]  66.7% 8]  11.1% 3 5 16]  22.2%
EEE  |/NEHh 9 7] 77.8% 1 11.1% 1 0 1 11.1%
EEE [=Hm 49 23] 46.9% 13|  26.5% 6 7 13|  26.5%
EEE  |igEm 12 9]  75.0% 0 0.0% 0 0 3] 25.0%
EEE |#lH 7 3|  42.9% 3| 42.9% 2 1 1 14.3%
EEE |BEXWH 1 0 0.0% 1] 100.0% 1 0 0 0.0%
EEE |FEH 2 1 50.0% 1 50.0% 1 0 0 0.0%
EEE |[EHblh 6 2]  33.3% 3] 50.0% 0 3 1 16.7%
EEE |#Xmh 0
EEE  |[RBEh 38 11 28.9% 18]  47.4% 14 4 9]  23.7%
EEE |R¥EH 7 1 14.3% 5|  71.4% 2 3 1 14.3%
EEE |mEH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EEE |20 12 8] 66.7% 3] 25.0% 1 2 1 8.3%
EEERE  |NILGDERSES AT 0
EER | ZAASATH 2 1 50.0% 0 0.0% 0 0 1 50.0%
EEE |t EFESEET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EER | ARHEEE AT 6 3]  50.0% 2] 33.3% 1 1 1 16.7%
EEE |tISER I 1 0 0.0% 0 0.0% 0 0 1] 700.0%
EEER jiimﬁgﬁ?émﬁﬁw 4 2|  50.0% 1 25.0% 1 0 1 25.0%
EES |t AR shsa] ET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EER |E&RAATH 5 2| 40.0% 2] 40.0% 1 1 1 20.0%
:Eir ?%Eézm 0 '
EER A FRET 1 0 0.0% 0 0.0% 0 °
EBE |ZHEEE 0 ° R
EEE |EHBIERAT 0

&t 3,190 2,034 63.8% 655 205%| 240 415 501 15.7%

31




37 = > O N
ZIEEERERFERZO—FY YT (22498308 H%E)
MR R | AT s ,ﬁg" ze | |sEsy |#e  |oem|oEE]| sEsl |22
Z=RE |ZBRWH 260 178]  68.5% 41 15.8% 28 13 41 15.8%
ZRE |X¥=HM 79 42|  532% 29|  36.7% 22 7 8]  10.1%
ZRE |X#EILT 54 24|  44.4% 25  46.3% 12 13 5 9.3%
=RBE |X¥EWm 82 73] 89.0% 6 7.3% 4 2 3 3.7%
ZRE |EBEW 126 55  43.7% 47 37.3% 26 21 24 19.0%
ZRE |BHm 47 32|  68.1% 12| 25.5% 6 6 3 6.4%
%EE 13?1 r; 4 3 75.0%: 1 25.002 1 0 0 0.0%
ZRE |ffFh 10 3] 30.0% 7] 70.0% 1 6 0 0.0%
=RIE [4EymH 25 14|  56.0% 9] 36.0% 5 4 2 8.0%
EECEEEST 32 19]  59.4% 9]  28.1% 6 3 4] 12.5%
=BE [EWh 14 9]  64.3% 1 7.1% 1 0 4] 28.6%
ENNEIFT 3 3| 100.0% 0 0.0% 0 0 0 0.0%
ZRE WLBEILEH 0
ZRIE |AEENERFEEHT 4 3]  75.0% 0 0.0% 0 0 1 25.0%
ZRIE |HEEL=0ET 10 8] 80.0% 1 10.0% 1 0 1 10.0%
ZRE |4 EnEBIAEHT 10 5]  50.0% 3] 30.0% 2 1 2] 20.0%
BN ET R0 9 5]  55.6% 2] 22.2% 1 1 2| 22.2%
ERCNE 0k 4 3]  75.0% 0 0.0% 0 0 1 25.0%
ZBRE [ =Ea 0
%EL‘% Tt 3 R R [ A BT 9 8] 889% 1 11.1% 1 0 0 0.0%
ELr +BEEK%;E§ ; 0
B [Frefsss 0
,TELR | = 28 = R T 1 1] 100.0% 0 0.0% 0 0 0 0.0%
ZEE |[SmIBHEER 0
ZRE |2 AR KHET 5 4] 80.0% 0 0.0% 0 0 1 20.0%
ZBE [ItEWAEEFM 20 5]  25.0% 11 55.0% 9 2 4] 20.0%
ZEE [t EWRERLERT 7 6] 857% 0 0.0% 0 0 1] 14.3%
ZBRE [IEWEASH 7 3 42.9% 1 14.3% 1 0 3] 42.9%
Z=EE |[SHES A 0
7= =
ZRE |EHEAEA 3 3] 100.0% 0 0.0% 0 0 0 0.0%
ZERE |EHETA 0
ZEE |SHHEEN 0
ZRE [EHEXI/IFH 0
ZREE |SHEEHEH 0
Z=EE [EHB+ZIA 0
ZREE |EHHBTFIILHA 0
Z=EE [EHE LU 0
ZRE |EHEHIILEH 0
=RE [EHEETHN 0
&t 825 509 61.7% 206 25.0% 127 79 110|  13.3%

32




ZEEENERERRO—FY YT (EH2249 8308 8%E)

AR | RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62

FoEmL S [Fngrl 191 151 79.1% 32 16.8% 19 13 8 4.2%

LS MRt 11 9| 81.8% 1 9.1% 1 0 1 9.1%

FOFRLE [BBARH 8 6] 75.0% 2] 25.0% 0 2 0 0.0%

FnFLE [HHT 0

FOERILIE [EISA T 6 3]  50.0% 3]  50.0% 3 0 0 0.0%

FnEuLE (AT 16 11]  68.8% 5|  31.3% 3 2 0 0.0%

MITLUE |Fr=Eh 4 3]  75.0% 1 25.0% 1 0 0 0.0%

FELE [l 6 5|  83.3% 1 16.7% 1 0 0 0.0%

FOERILE [E 12 8] 66.7% 3] 25.0% 1 2 1 8.3%

FnZe L [ 2 BRED EEFRT 2 2] 100.0% 0 0.0% 0 0 0 0.0%

LS [FERER N DS EET 2 2| 100.0% 0 0.0% 0 0 0 0.0%

FnFLIE |FERER L LT 0

FnFLE |FERER = B T 0

FnZe LS [F HERS R 6 3]  50.0% 2|  33.3% 2 0 1 16.7%

FnaxLR [ AR ET 0

MFLE |[HFREHEHIIET 3 1 33.3% 2] 66.7% 2 0 0 0.0%

FnaxLE (A S ApSEERT 0

FFLE |HSEE H 0

FnaxlE (A S AR R ET 2 2| 100.0% 0 0.0% 0 0 0 0.0%

FFLE | B SRR ENFI AT 0

F03x LR [ A S BBA AR~ BT 3 2|  66.7% 1 33.3% 1 0 0 0.0%

AMFLE |[HEEE S 0

A A FEEE I =p ) 10 8|  80.0% 2] 20.0% 2 0 0 0.0%

LS [FARERE = HET 2 2| 100.0% 0 0.0% 0 0 0 0.0%

FNanILE [FEEEERG SAHHT 0

FnFnILE [ EBRARE IR ET 1 0 0.0% 1] 100.0% 1 0 0 0.0%

F030LIE [EREERAHET 0

BB EEE =L 0

fnFuLE |mAEER LA 0

BB EE S EF N 4 1 25.0% 3[ 750% 3 0 0 0.0%
it 289 219| 75.8% 59  20.4% 40 19 1 3.8%

33




RERENRAREMZO—RTyT (Erk2249 8308 57)

EERFR |HXETH iiiE Zl;%g" 25 HE®HY |F/E |(225F |235E | |FHEEZL (Z/E5
ElE |[SEdH 18 17]  94.4% 1 5.6% 1 0 0 0.0%
EIRE [XFH 23 23| 100.0% 0 0.0% 0 0 0 0.0%
ERE [EEW 4 4| 100.0% 0 0.0% 0 0 0 0.0%
SIE [HEEMH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
ERE [EEHEERE 0
ESHE  [/\EBEREFRET 0
EERE  [/\BEEREESEHET 0
(SHE  [/\EBER/\EEHET 0
EIRE [HIHEF=ERHET 0
ERE |HBEHIER 0
ERE |[HEEZHET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EIRE [HEEEFILXKE 0
ERE [EEFBSEEN 0
EIRE [FE{EEFALET 0
ERE [#E{HEFFIERET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
ERE [FEEEEEE 0
ERE [AFHEHmAE 0
ERE [AFEHEFET 4 4] 100.0% 0 0.0% 0 0 0 0.0%
ENE  [BEFERIATAT 0

&t 54 53 98.1% 1 1.9% 1 0 0 0.0%

34



FEEENELEREO—R YT (Ef225898308E%E)

#EFFIR |TIXETH B 2% 4 }E%g" ZI& FEHY (Z/E |226E [23FE | [ftELL S
BEE |#WTIHh 48 45 93.8% 3 6.3% 3 0 0 0.0%
|EEE |EAT 16 16] 100.0% 0 0.0% 0 0 0 0.0%
SRR [HESR 9 9| 100.0% 0 0.0% 0 0 0 0.0%
SiRE |ZHET 4 4] 100.0% 0 0.0% 0 0 0 0.0%
SRR [KHAH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EGEESH 2 2| 100.0% 0 0.0% 0 0 0 0.0%
BiRE |TEH 0
SRE |E@m 0
SRE |/\RERRHERT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EEE |[CEZEEHE 0
SiRE |SRAEEREEET 0
ERE |5)IERE)IET 2 2[ 100.0% 0 0.0% 0 0 0 0.0%
ERE |BEE)IKE 0
SiRE |BEEEHET 0
EEIEEEE T 0
SRR | A EETET 0
SRE |FEEEE B 0
SiRE IR ERE TR 0
SiRE |[BIEEFE/ ST 0
SiRE IR BRI K AT 0
ERE [[RISERRIE D SE 0

it 84 81| 96.4% 3 3.6% 3 0 0 0.0%

35




ZEEENERERRO—FY YT (EH2249 8308 8%E)

EERFR |HXETH HEER Z,;:%g S ET HE®HY |F/E |(225F |235E | |FHEEZL (Z/E5
FEILE  [FElfmEX 239 213]  89.1% 26|  10.9% 2 24 0 0.0%
FILE  [FELfPX 74 66] 89.2% 8] 10.8% 0 8 0 0.0%
FILE  [FEILHRR 48 44 91.7% 3 6.3% 0 3 1 2.1%
FILE  [FELHER 52 46| 88.5% 5 9.6% 0 5 1 1.9%
FWLE [E&m 142 114]  80.3% 13 9.2% 0 13 15|  10.6%
FWLE  [FElm 7 7| 100.0% 0 0.0% 0 0 0 0.0%
FWLE [EHFH 27 24|  88.9% 3 11.1% 1 2 0 0.0%
FWLE [Z@m 14 12| 85.7% 1 7.1% 1 0 1 7.1%
MILE  [HEH 0
LR  [#%h 15 9] 60.0% 3] 20.0% 0 3 3] 20.0%
FUE [S2m 1 1] 100.0% 0 0.0% 0 0 0 0.0%
FILE  [#RHE 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EILE  [{&aih 16 16] 100.0% 0 0.0% 0 0 0 0.0%
FILE [BFAH 9 7] 77.8% 1 11.1% 1 0 1 11.1%
FWLE  [FREm 10 10| 100.0% 0 0.0% 0 0 0 0.0%
FILE [BEEH 5 5| 100.0% 0 0.0% 0 0 0 0.0%
FWLE  [E#Em 1 1] 100.0% 0 0.0% 0 0 0 0.0%
FWE [ZOm 4 4] 100.0% 0 0.0% 0 0 0 0.0%
FEILE  [FiSEBFI ST 3 1 33.3% 2[  66.7% 0 2 0 0.0%
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LEE | REERETTET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
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WOg  [F&m 33 23] 69.7% 7] 21.2% 1 6 3 9.1%
==l =K 20 20| 100.0% 0 0.0% 0 0 0 0.0%
WOg  [Fmh 3 3| 100.0% 0 0.0% 0 0 0 0.0%
M=l GG 16 14  87.5% 2| 12.5% 0 2 0 0.0%
WOgE  [F#m 14 12| 85.7% 2| 14.3% 1 1 0 0.0%
wog [EEd 36 29|  80.6% 5]  13.9% 3 2 2 5.6%
Wag  [km 5 5| 100.0% 0 0.0% 0 0 0 0.0%
Wog [EMm 1 1] 100.0% 0 0.0% 0 0 0 0.0%
WO [#Hm 7 6] 85.7% 1 14.3% 0 1 0 0.0%
IMEES T 2 1] 50.0% 1] 50.0% 1 0 0 0.0%
=Gk 70 61 87.1% o9 12.9% 1 8 0 0.0%
WOE [l /MEFET 23 22  95.7% 1 4.3% 0 1 0 0.0%
WOg  [KEEERHKSHT 2 1] 50.0% 1 50.0% 1 0 0 0.0%
WOE (A ERFOAHET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
WWOE  [AEEAR_E BT 0
WWOE  [3EEERFA 7 bR AT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
WWOE [AEERF AR 1 1] 100.0% 0 0.0% 0 0 0 0.0%
W OIS [y AR AT EC T 0

&t 319 275| 86.2% 35 11.0% 11 24 9 2.8%

38




ZEEEX R LERZEO—F YYD (Ek2249A308H%E)

HRERFR |FRATH was | [TV @2 | (HEAEY (212 |onE nex | (HESL (72

mEE |[#EETH 235 151]  64.3% 51  21.7% 14 37 33|  14.0%

mER (BT 29 20  69.0% 71 24.1% 2 5 2 6.9%

mER /BT 12 4]  33.3% 7] 58.3% 4 3 1 8.3%

mERE |MEh 32 11 34.4% 18]  56.3% 11 7 3 9.4%

mER |EHFHITH 12 9] 75.0% 3] 25.0% 1 2 0 0.0%

mERE  [PFLET 0

mERE |[XEBEW 2 2] 100.0% 0 0.0% 0 0 0 0.0%

mERE |=ih 2 2| 100.0% 0 0.0% 0 0 0 0.0%

EEIR  [R%0m AR R T 0

mEE  |BHER L SE 0

BEE |AEREMEIAA 0

mEE |RFAEEAFHE 1 1] 100.0% 0 0.0% 0 0 0 0.0%

mEE  |&AFEERAILE 5 5] 100.0% 0 0.0% 0 0 0 0.0%

mEE |BEEREHE 0

EEE |/EHAEILE 2 2| 100.0% 0 0.0% 0 0 0 0.0%

EEERE |/EASIEE 1 0 0.0% 0 0.0% 0 0 1] 100.0%

mEE |BIEESE 0

EERE  |WREFEIZET 8 3| 37.5% 5|  62.5% 3 2 0 0.0%

EEE |HREAILER 1 1]  100.0% 0 0.0% 0 0 0 0.0%

EEE  |WREAEE(ER 3 3| 100.0% 0 0.0% 0 0 0 0.0%

EmEE  |REFEIREET 2 1 50.0% 1 50.0% 1 0 0 0.0%

BER  |HREFERERET 0

EERE |EEADLHETH 0

EEE |=iAiEAHLLE 1 1] 100.0% 0 0.0% 0 0 0 0.0%
it 348 216 62.1% 92  26.4% 36 56 40(  11.5%
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ZEEEX R LERZEO—F YYD (Ek2249A308H%E)

HBAFS | ETAT eS8 {b’%g” g5 | |sEay |2 |2k ke gEnL |22
FIE [S¥h 571 531  93.0% 28 4.9% 1 27 12 2.1%
FNE [h&d 78 76] 97.4% 1 1.3% 0 1 1 1.3%
FINE R 28 25 89.3% 1 3.6% 1 0 2 7.1%
FIE |&E&FH 10 8] 80.0% 0 0.0% 0 0 2] 20.0%
FIE =3Fh 19 16] 84.2% 3] 15.8% 3 0 0 0.0%
FINE [SHEH 16 11 68.8% 4]  25.0% 3 1 1 6.3%
FNE [EAMLDHE 11 8l 72.7% 3| 27.3% 3 0 0 0.0%
FIE |=Z£ 8 4]  50.0% 4] 50.0% 3 1 0 0.0%
FIE |/NEER+FERT 4 4] 100.0% 0 0.0% 0 0 0 0.0%
FIE [NWEE/NT BSHE 3 1 33.3% 2|  66.7% 2 0 0 0.0%
FIIE | REE=ARHAT 2 2] 100.0% 0 0.0% 0 0 0 0.0%
FIE [FEBEESR 1 1] 100.0% 0 0.0% 0 0 0 0.0%
FINER [EHEF 2 EHE 11 10|  90.9% 1 9.1% 0 1 0 0.0%
FINE  |#ErEREE I HT 7 6] 85.7% 1] 14.3% 1 0 0 0.0%
FIE [hZEAZTHE 7 7] 100.0% 0 0.0% 0 0 0 0.0%
FIE |[hZEALEER 10 6] 60.0% 2] 20.0% 1 1 2] 20.0%
[ FNE [[hZEHFADSHE 1 1] 100.0% 0 0.0% 0 0 0 0.0%
it 787 717  91.1% 50 6.4% 18 32 20 2.5%
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ZEEEX R LERZEO—F YYD (Ek2249A308H%E)

BT AT eS8 {b%g” #5 | [sEEY (@2 234 | [sELL |Z2
[N 1,310 1,122]  85.6% 174]  13.3% 6 168 14 1.1%
58 224 104]  46.4% 54|  24.1% 5 49 66] 29.5%
FHETH 68 62] 91.2% 4 5.9% 3 1 2 2.9%
J\IEET 39 38| 97.4% 1 2.6% 0 1 0 0.0%
FEET 89 62] 69.7% 13 14.6% 0 13 14 15.7%
i 85 58]  68.2% 4 4.7% 1 3 23] 27.1%
KM 17 14| 82.4% 2] 11.8% 1 1 1 5.9%
#¥H 37 34|  91.9% 2 5.4% 2 0 1 2.7%
Ef R 111 61 55.0% 35| 31.5% 1 24 15 13.5%
il 1 1] 100.0% 0 0.0% 0 0 0 0.0%
& E;ﬁlgi%m 17 12| 70.6% 4] 235% 0 4 1 5.9%
= E 5
& LEREALSRE 1 1] 100.0% 0 0.0% 0 0 0 0.0%
{FF AR RIET 20 19]  95.0% 1 5.0% 0 1 0 0.0%
i‘;ggfg%ﬂm 10 6] 60.0% 2| 20.0% 2 0 2| 20.0%
= FH] 0
P AR A BT 0
L FFERAFFET 0
L =FF0ER SR AL BT 1 1| 100.0% 0 0.0% 0 0 0 0.0%
EFHEE 2 2|  100.0% 0 0.0% 0 0 0.0%
it 2,032 1,597 78.6% 296 14.6% 265 139 6.8%
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ZEEEX R LERZEO—F YYD (Ek2249A308H%E)

HBAFS | ETAT eS8 {b%g” g5 | |sEay |2 |2k ke gEnL |22

=SHE [S%H 338 328] 97.0% 8 2.4% 7 1 2 0.6%

=fHE |[EFW! 3 1 33.3% 2| 66.7% 0 2 0 0.0%

=SHE |®R=WH 5 3]  60.0% 2] 40.0% 1 1 0 0.0%

=HE  [EET 7 7] 100.0% 0 0.0% 0 0 0 0.0%

SHE  [tiEH 7 6] 85.7% 1 14.3% 0 1 0 0.0%

SHE  |EBH 6 5  83.3% 1 16.7% 1 0 0 0.0%

=SHE |[BEH 3 3| 100.0% 0 0.0% 0 0 0 0.0%

SHE [T EEKE 1 1| 100.0% 0 0.0% 0 0 0 0.0%

=SHE  |mB+TH 7 7] 100.0% 0 0.0% 0 0 0 0.0%

=SHE |FEH 8 7] 87.5% 1 12.5% 1 0 0 0.0%

=SHE |[FEH 8 7] 87.5% 0 0.0% 0 0 1 12.5%

SHE | ZR=EREEAT 0

SHE | ZZEEFFIE 1 0 0.0% 1] 100.0% 0 1 0 0.0%

SR  [ZZESHEFET 0

SHE |ZR=EETHA 0

SHE  [=Z=EAIF 0

SHE |Z=ZHERH 0

SHE |[ZREH=AmH 0

=SHE | EEEALB 1 1| 100.0% 0 0.0% 0 0 0 0.0%

=SHE |[EEEKZH 0

SHE | LA LA 0

SHE [T EBXIF 0

=22 [EIEL DET 4 4] 100.0% 0 0.0% 0 0 0 0.0%

SEE  |EJIEMEI I ET 0

SHE |SEEH LA 0

SR [SEEME)IET 1 1] 100.0% 0 0.0% 0 0 0 0.0%

SHE  [SEEREENET 1 1] 100.0% 0 0.0% 0 0 0 0.0%

=2HE | SEEREEET 0

SHE [SEEESH 0

SHE |[SEEEEET 0

SHE  |[SEEEG+E 2 1| 50.0% 1] 50.0% 0 1 0 0.0%

SHE [EZEAXAR 0

SHE [BZE=EH 0

SEE WS % PR AT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
&t 404 384| 95.0% 17 4.2% 10 7 3 0.7%
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ZEEENERERRO—FY YT (EH2249 8308 8%E)

AR | RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62
EEE  [dLAMmPER 80 57|  71.3% 15|  18.8% 4 11 8] 10.0%
BEE |[AMmERK 30 24|  80.0% 4] 13.3% 3 1 2 6.7%
BEE |[dAMmEER 51 42]  82.4% 6] 11.8% 1 5 3 5.9%
ERE  [HJEAMT/NERR 186 146  78.5% 36 19.4% 6 30 4 2.2%
EEE [dtAMm/INERR 98 55|  56.1% 34  34.7% 7 27 9 9.2%
EEE  |deAMd/EEREEK 34 26|  76.5% 3 8.8% 1 2 5 14.7%
EEE L AME/\IBFEX 99 73] 73.7% 16]  16.2% 5 11 10]  10.1%
ERE |[fERHERK 154 126]  81.8% 25  16.2% 4 21 3 1.9%
EHE |[ERHEZX 128 117]  91.4% 11 8.6% 1 10 0 0.0%
EHE |fERmhRX 178 168]  94.4% 9 5.1% 0 9 1 0.6%
EEE |tEREhE X 167 144]  86.2% 19]  11.4% 4 15 4 2.4%
ERE |[fERHAEX 79 68|  86.1% 11 13.9% 1 10 0 0.0%
EHE SRR X 63 61| 96.8% 2 3.2% 1 1 0 0.0%
EHE |[ERHEERR 132 122  92.4% 10 7.6% 1 9 0 0.0%
EEE | KEHEN 62 44  71.0% 7] 11.3% 2 5 11 17.7%
BEE |ABXh 103 84| 81.6% 6 5.8% 0 6 13 12.6%
EHE |EAH 15 9]  60.0% 3] 20.0% 1 2 3] 20.0%
BEE  [SiEm 43 33 76.7% 8] 18.6% 2 6 2l 47%
wBEE |R)IH 22 17]  77.3% 5| 22.7% 0 5 0 0.0%
EBEE [ 5 2|  40.0% 3| 60.0% 1 2 0 0.0%
BEE [/\ZH 18 16]  88.9% 1 5.6% 0 1 1 5.6%
EEE |H&Eh 27 24|  88.9% 2 7.4% 0 2 1 3.7%
BEE | X 8 5|  62.5% 2| 250% 2 0 1 12.5%
EEE 17T 22 16  72.7% 1 4.5% 0 1 5|  22.7%
EEE |SEih 24 21 87.5% 0 0.0% 0 0 3] 12.5%
BEE ST 13 8| 61.5% 4] 30.8% 1 3 1 7.7%
BEE /M 22 16  72.7% 2 9.1% 1 1 4] 18.2%
BEE |[REFHH 45 33  73.3% 9] 20.0% 1 8 3 6.7%
EEE |EHM 50 48[  96.0% 2 4.0% 0 2 0 0.0%
BEE | XEETH 50 33  66.0% 16]  32.0% 3 13 1 2.0%
EBEE |RiEH 25 16]  64.0% 3] 12.0% 0 3 6]  24.0%
BEE | KXFEFH 31 25|  80.6% 2 6.5% 0 2 4] 12.9%
EEE |HEm 33 22|  66.7% 8| 24.2% 2 6 3 9.1%
mEE [EEh 17 9]  529% 8]  47.1% 0 8 0 0.0%
BREE |[SEEWm 7 7] 100.0% 0 0.0% 0 0 0 0.0%
{EEE [E&m 12 1] 91.7% 0 0.0% 0 0 1 8.3%
EEE  |[Ekm 10 7] 70.0% 3| 30.0% 0 3 0 0.0%
EEE  [SEm 7 6] 857% 1 14.3% 1 0 o 0.0%
BRE |A#OFEm 8 8| 100.0% 0 0.0% 0 0 0 0.0%
wEEE [RBh 27 20|  74.1% 7] 25.9% 1 6 0 0.0%
ERE | SIS ARARTA I BT 4 1| 25.0% 1| 25.0% 0 1 2| 50.0%
BEE BRI 5 4] 80.0% 1] 20.0% 1 0 0 0.0%
ERE |[FEEAEREA 7 5|  71.4% 0 0.0% 0 0 2| 28.6%
{EME [HEEERSRE 10 6]  60.0% 4] 40.0% 2 2 0 0.0%
fEEE [fEEERA ST 1 0 0.0% 0 0.0% 0 0 1] 100.0%
ERE [EEIRH = 7 7] 100.0% 0 0.0% 0 0 0 0.0%
ERE |[FEEAAILE 3 1] 33.3% 2| 66.7% 0 2 0 0.0%
{EME [HEEEIAER 5 4] 80.0% 1] 20.0% 0 1 0 0.0%
fEREE [ B e AT 3 2| 66.7% 0 0.0% 0 0 1 33.3%
BEE | EEAUKERT 7 6] 85.7% 1 14.3% 1 0 0 0.0%
fEREE  |= % EBmtanr 7 5| 71.4% 1 14.3% 0 1 1 14.3%
ERE | EEEBEEET 1 0 0.0% 1] 100.0% 0 1 0 0.0%
EEE  |mFE/NMIET 3 2|  66.7% 1 33.3% 1 0 0 0.0%
EEE  |HFAERTFHET 5 5] 100.0% 0 0.0% 0 0 0 0.0%
ERE | EFEAE T 0
ERE  |FEERATET 5 5] 100.0% 0 0.0% 0 0 0 0.0%
ERE  |EE AR RIS 0
BEE |[=HEKRTIERT 1 0 0.0% 1] 100.0% 0 1 0 0.0%
BEE | =HEAKHET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
BRE  [/\ZER LI 7 4] 57.1% 1 14.3% 0 1 2] 28.6%
EEE  |BIIEEEA 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EEE  |F)IER 7 EET 0
ERE  [EIIE R EE 0
=EE | FHIIIER) s ET 0
ERE  [EIIE KT 0
BEE  |BIIERFRA 0
=S |HII A 10 9]  90.0% 1 10.0% 0 1 0 0.0%
BE | FTERER X H AT 9 9]  100.0% 0 0.0% 0 0 0 0.0%
EE  |RERAERA O CHT 4 3|  75.0% 1 25.0% 0 1 0 0.0%
EHE |FrHFE 2 2| 100.0% 0 0.0% 0 0 0 0.0%
*%LZ: FEME l’é:TT 3 2]  66.7% 1] 333% 0 1 o 00%
BEEE |5 S 6 6] 100.0% 0 0.0% 0 0 0 0.0%

&t 2,302 1,859 80.8% 322  14.0% 62 260 121 5.3%
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==
ZEE
ERERFE -L-I- %
R o 5 =5 A
R EEm it 9,,, v (FEfE22
AER EA Exm |7E #£9A3
HE BT 103 = HEH. ORIR#E
’;I_f”ﬁ“ﬁ éagl 27 88| 854k ) |B1E (225 )
o f1 30
22 FEEh 18 27| 100.0% 11| 10.79 B 235 | |FTEEL (2
EBEE R 18 7% L (22
T 0 100.0% 0 0.0" 7 ERIE]
EE B = il 1 o 0 0% 0 4
] BT T 0.0% 0 0 4 3.9%
e MR i 00.0% 0 o oo
L = 7 1 1 0 .0%
s e 11000, 0.0% ol o00%
£ Ll?_ METH 9 7 100.0% g 0.0% 8 0
EER HIBEE Ty AT : 17.8% ) 0.0% 5 0 o 00k
£ ,E\ ig%gﬂgmm g 3 T 22.2% 2 0 8 0.0%
1217_”“ =l = gg[‘iﬂjéﬂ]‘]' 4 2 100' f] 1 0 0 0.0%
EE =l =FERAHO 4 0% 25.0% 0.0%
ERR S Eﬁiﬁzﬁz;ﬁ%m 1 1 100.0% ol 00% ! 0 =
3L ML 1 11000 I S - of 00
EER P 55 BB A TAY 1 N 0 o 5 0 oo
EE FEET 1 100.0% 0 0.0% 0 0 0 0.0
/E\ = LT 5 1 100.0% 0 o 0 0 0%
(B I =E=101 . 4 0% 0 0.0% 0 0 0.0%
R 2 B BT B 0.0% 0 o o.0%
2 100.0% 1] 20.0% 0 0 0 00%
=t 0 o 00% ‘2’ 0.0% g) 0 . 0'002
190 — 100.0% > 0 o 00%
88.9% 0 0 0.0%
17 89% 0l 00%
13 2
4 2%
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ZEEENERERRO—FY YT (EH2249 8308 8%E)

ABERTR |RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62
EIZE | Rih 147 137 93.2% 8 5.4% 0 8 2 1.4%
EBE |[{EiHES 19 16  84.2% 2| 10.5% 1 1 1 5.3%
EIZE |BR| 3 2| 66.7% 1] 33.3% 0 1 0 0.0%
EIBE |FEH 16 11 68.8% 3| 18.8% 1 2 2| 12.5%
EIBE | X&H 2 1] 50.0% 1] 50.0% 0 1 0 0.0%
EBE |FFh 2 1 50.0% 0 0.0% 0 0 1 50.0%
EIFE |WEH 6 5|  83.3% 1 16.7% 1 0 0 0.0%
EIBE |EH 0
RIFE |Zkkm 0
EIBE [HEmW 1 1| 100.0% 0 0.0% 0 0 0 0.0%
RIGE |fiEm 0
EBE |Ed 3 1 33.3% 2| 66.7% 0 2 0 0.0%
EIGE |EBRM 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EIBE |FAEEEESH 3 2|  66.7% 1 33.3% 0 1 0 0.0%
EIGE  |FafE4iFERes AT 3 3| 100.0% 0 0.0% 0 0 0 0.0%
EIBE | R AT 4 4] 100.0% 0 0.0% 0 0 0 0.0%
EIGE  |SRAEAEER) | 40ET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EIBE | RAEHERRE R ET 1 1] 100.0% 0 0.0% 0 0 0 0.0%
FEIFE | HCHER/IME S fT 1 0 0.0% 0 0.0% 0 0 1] 100.0%
RIFE e EEME < BT 0
FEIBE |EWENH L RER 0

&t 213 187] 87.8% 19 8.9% 3 16 7 3.3%
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ZEEEN R RIERZRO—RT YT (EH2249 8308 8%E)

HRATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62

A2 e 199 186]  93.5% 12 6.0% 5 7 1 0.5%
HEZ I\ 63 60]  95.2% 3 4.8% 0 3 0 0.0%
A2 ASTH 9 9] 100.0% 0 0.0% 0 0 0 0.0%
HEZ HEM 12 9|  75.0% 3] 250% 0 3 0 0.0%
A2 KEEH 9 6] 66.7% 3] 33.3% 1 2 0 0.0%
HEZ EX A 8 6] 75.0% 2| 25.0% 1 1 0 0.0%
5:7 Wi 9 7| 77.8% 2| 22.2% 0 2 0 0.0%
fE %;&Fi 2 1| 50.0% 1| 50.0% 1 0 0 0.0%
EXEN 1 1] 100.0% 0 0.0% 0 0 0 0.0%
HE J:ﬁﬁﬂi 3 2|  66.7% 1 33.3% 1 0 0 0.0%
e 10 10]  100.0% 0 0.0% 0 0 0 0.0%
REA FalZ% 1 1| 100.0% 0 0.0% 0 0 0 0.0%
XEH 10 9 90.0% 0 0.0% 0 0 1 10.0%
REA aEm 2 2| 100.0% 0 0.0% 0 0 0 0.0%
T 28 35 B 55 BB T 2 2| 100.0% 0 0.0% 0 0 0 0.0%
BERE |FRAERA 2 2|  100.0% 0 0.0% 0 0 0 0.0%
4 A0 m I T 1 1] 100.0% 0 0.0% 0 0 0 0.0%
i %2 g{rz*ﬁﬂﬁ gTT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
= 4 7] 0
HE AR EET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
?;‘mzng 5 HT 7 7] 100.0% 0 0.0% 0 0 0 0.0%
i ] 5% Bl 5 /) FE T 0
Eﬁlﬁzﬁ}tlﬂﬂ 1 1] 100.0% 0 0.0% 0 0 0 0.0%
AE ] & AR EE LU 0
Bal 2% B = 2% BT 0
BE FaT 2% BR 7 Jm A4 1 1] 100.0% 0 0.0% 0 0 0 0.0%
HEZ ] 25 B8 e e Sk A 0
jigz ngzmﬁﬂﬂém 1 1] 100.0% 0 0.0% 0 0 0 0.0%
HEZ L3S Al = ST 0
i b 25 355 B 2% 3ok T 1 1] 100.0% 0 0.0% 0 0 0 0.0%
5‘7‘52 iggggi%&ﬁg 3 3| 100.0% 0 0.0% 0 0 0 0.0%
RE4 0
HEZ JAKERSK I BT 2 2| 100.0% 0 0.0% 0 0 0 0.0%
HEZ EE#TVEA] 2 2| 100.0% 0 0.0% 0 0 0 0.0%
5‘7‘52 ;gﬁ;ﬁm 1 1| 100.0% 0 0.0% 0 0 0 0.0%
REZ KEZRLE 0
HERL BREEAR 2 B ARHT 0
REARIE | BREEERZRIM 0
REARE  |BREERRK EH 0
RER BREZERHE B 0
5‘7‘52 BEEHEK ] 1 0 0.0% 1] 100.0% 1 0 0 0.0%
REAR Bk EE /I ] 0
HEZ Bk BE AR K BE 1 0 0.0% 1] 100.0% 1 0 0 0.0%
REX BREEERdp S U BT 1 0 0.0% 1] 100.0% 1 0
| BE 4 REASILET 1 1] 100.0% 0 0.0% 0 0 0 0.0%

it 370 338 91.4% 30 8.1% 12 18 2 0.5%
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ZEEENERERRO—FY YT (EH2249 8308 8%E)

AR | RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62

XHE |XHH 59 47]  79.7% 12]  20.3% 11 1 0 0.0%

AHE BT 16 15  93.8% 1 6.3% 1 0 0 0.0%

AHE  |hiEh 4 2|  50.0% 2| 50.0% 2 0 0 0.0%

XHE |HHET 3 3| 100.0% 0 0.0% 0 0 0 0.0%

XpE  &EH 4 3|  75.0% 1 25.0% 1 0 0 0.0%

KXHB  |B#%Fh 2 2| 100.0% 0 0.0% 0 0 0 0.0%

ApE [EARH 0

AHE  |MHET 0

AHE |Z2ESHT 1 1] 100.0% 0 0.0% 0 0 0 0.0%

AHE |#ET 1 0 0.0% 1] 100.0% 1 0 0 0.0%

AHE |FEH 2 1] 50.0% 1] 50.0% 1 0 0 0.0%

AHE |BERXHH 0

A58 |Bfh 0

A58 |EEH 1 0 0.0% 1] 100.0% 1 0 0 0.0%

A8 |HERAESH 0

AHE |EREAHET 3 2]  66.7% 1 33.3% 1 0 0 0.0%

APE |RBEAEHE 0

AHE IR ERAEEAT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
it 97 77|  79.4% 20( 20.6% 19 1 0 0.0%
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ZEEENERERRO—FY YT (EH2249 8308 8%E)

AR | RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62
FIFE [Ei&h 331 326] 98.5% 5 1.5% 1 4 0 0.0%
G E i 28 27|  96.4% 1 3.6% 0 1 0 0.0%
EIFE  [JERT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
=IFE (BT 2 2|  100.0% 0 0.0% 0 0 0 0.0%
FUFE [/ 2 2| 100.0% 0 0.0% 0 0 0 0.0%
=IFE [BmT 5 5[ 100.0% 0 0.0% 0 0 0 0.0%
EIFE [HREH 0
EISE  [FEET 4 4 100.0% 0 0.0% 0 0 0 0.0%
=GR igmﬁ 1 0 0.0% 1] 100.0% 1 0 0 0.0%
=FE  [db R A= ARET 0
EFE  |FEEE S R AT 0
EIBE |[HEEHNEEE 0
HISIE  [REEEARERT 1 1] 100.0% 0 0.0% 0 0 0 0.0%
=R [RSES HRET 2 2| 100.0% 0 0.0% 0 0 0 0.0%
EBE [RBEF =T 0
EBE [REEFERER 0
EIFE  [RBERARIRET 0
EiFE L%i%%ﬂglﬁm 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EIBE  [RSEREREET 0
EUSE  [EEEIFEERPY)IIE 0
FIFE [FEEAHEEEIEN 0
EISE  [HEEHEEN 0
EISE  [EHEEIVFERSEHIET 0
EIBE (TSRS TR 0
EIBE [FEEAMEBZE 0
=SS (TR R o AEET 0

it 378 371 98.1% 7 1.9% 2 5 0 0.0%
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37 = 1= == = ~ . O T ek
ZIEEENRAFEERO—F YT (Em2269A308H%)

ABERTR |RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62
EREE |[EREH 386 316] 81.9% 55|  14.2% 6 49 15 3.9%
EREE |[EETH 6 4] 66.7% 0 0.0% 0 0 2| 33.3%
EREE |MiGH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
EREE [FAET 1 0 0.0% 0 0.0% 0 0 1] 100.0%
EREE |HK 7 7] 100.0% 0 0.0% 0 0 0 0.0%
EREE [IEEMH 2 1 50.0% 0 0.0% 0 0 1 50.0%
BEREE ekt 0
EREE |EKh 0
BEREE [EEIAT 21 15]  71.4% 4] 19.0% 2 2 2 9.5%
BERER |HEH 6 4] 66.7% 1 16.7% 0 1 1 16.7%
BEREE |SRH 0
BERER |EET 4 3  75.0% 1 25.0% 1 0 0 0.0%
BEREE |NERAHFH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
ERSE [Fs2Fh 1 0 0.0% 0 0.0% 0 0 1] 100.0%
BEREE |Efhs 0
EREE |&Exh 7 1 14.3% 3] 42.9% 2 1 3] 42.9%
EREE |[EAMT 0
BEREER |[#&h 3 2|  66.7% 0 0.0% 0 0 1 33.3%
EREER ISEH 8 3|  37.5% 1 12.5% 1 0 4] 50.0%
EREE |EREM=EH 0
EREER |[EREH+EH 0
EREE [EEASDEHRT 0
EREE |HKEESH 0
ERSE |i& B AEKET 0
EREE |5 MEAIGHE 0
EREE |HFEAHE B 0
BERESE |FERRERIA 0
ERSE |IFEAR R ARET 0
ERSE |FEARAT{TET 0
EREE |REEA iz 70T 0
EREE |#EE AN FtEF 0
EREE [EEREASH 0
EREE | XS AT 0
EREE | XBEFRHM 0
EREE | XSANEF NET 0
ERSE | XS EREEHET 0
ERSE | XS =5 0
BEREE | XEAEfEZ ST 0
ERSE | XSAKIET 0
ERSE | XSEMFIIET 0
ERSE | XSAFAE 0
BEREER | KEE%AAT 0
EREE (XSRS RET 0

it 454 358| 78.9% 65| 14.3% 12 53 31 6.8%
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ZEEENERERRO—FY YT (EH2249 8308 8%E)

AR | RATH mw | (TSR (o2 | [fEsy |92 |eem new| dEL |62
HEEE  |HRERT 129 70|  54.3% 52  40.3% 18 34 7 5.4%
e BT 15 9]  60.0% 4] 26.7% 2 2 2] 13.3%
HEEE  |RIEH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
AR BET 14 6]  42.9% 7] 50.0% 3 4 1 7.1%
hEE  |ZEm 5 1] 20.0% 4] 80.0% 2 2 0 0.0%
R R 2 2] 100.0% 0 0.0% 0 0 0 0.0%
HEEE hEEh 15 8| 53.3% 6]  40.0% 3 3 1 6.7%
e |EREH 7 5]  71.4% 2] 28.6% 1 1 0 0.0%
AR |S54Fm 6 4]  66.7% 2] 33.3% 0 2 0 0.0%
AR |EhHET 0
EEE  |EEH 1 1] 100.0% 0 0.0% 0 0 0 0.0%
R |ESAREEER 0
e |ESARRA B LR 0
RS |ESERRERAT 0
e |ESERRS RN 0
RS |ESARRAERET 0
AEEE  |EsEER AT 2 0 0.0% 2] 100.0% 1 1 0 0.0%
RS |ESAERE B EE A 2 2| 100.0% 0 0.0% 0 0 0 0.0%
AEEE | ESEER S EA 1 1] 100.0% 0 0.0% 0 0 0 0.0%
AR |ESEEMFIH 0
AR |hEARRSE AN 0
RS |chEAERE FHRET 3 3| 100.0% 0 0.0% 0 0 0 0.0%
HEEE  |chEEARL S ET 4 4] 100.0% 0 0.0% 0 0 0 0.0%
PR |chEAERE At 0
AAHBE | chEARR A 0
APHEE  |ohEARRTE AT 1 0 0.0% 1] 100.0% 0 1 0 0.0%
HiEE |ERASAIEET 2 1] 50.0% 1 50.0% 1 0 0 0.0%
RS | B ANE RS 3 2|  66.7% 1 33.3% 0 1 0 0.0%
HiEE | SRANEESH 0
RS |55 AREE bk 0
AR | SRAREN 0
HiEE |BREEAEN 0
HEE | ERABEAAERHM 1 0 0.0% 1] 100.0% 0 1 0 0.0%
AEE | BRAEAEMN 0
HiEE | SRAFTEN 0
HiEE |BREMFREALAH 0
iR | SRAAKSH 0
RS | SHRER/\E AT 4 1 25.0% 3] 75.0% 1 2 0 0.0%
AR |=EHANS BRI 0
e [ \B LT EE 0
Upggle |\ ILERS AREAT 0

&t 218 121|  55.5% 86| 39.4% 32 54 11 5.0%
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